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Topic:- Child Development & Pedagogy (CDP)

1) Which of the following statement is true? / fFHafefaa A B I HYT T 8?2
1. Growth is only a mental process. / q@ Fad U AFRIS Ufehar g
2. Heredity doesn’t affect on learning process. / 3faifRidar iferTH ufhar &I gyTfad 8! x|

3. Development is only a quantitative process. / fIpT™ Had T HAETHS UihaT B |

4. Learning is a process of behavioral changes. / 3{fFTH STGgIR® TRadH! &1 Ufdhar gl

Correct Answer :-

« Learning is a process of behavioral changes. / 3fSRTH SATGTR® IR B! Uichal gl

2) How many clinical scales were there in the original Minnesota Multiphasic

Personality Inventory (MMPI)? / J& fRter ued it Rie ueinferd) sdedt (wauadians)
fraq Aeife ta= A2

1. Nine / Cll
2. Eleven / TORgE
3.Ten/ ¥

4, Twelve / dR8

Correct Answer :-

3) Which one is NOT the Psychological principle of teaching? / ﬁ?WWﬁT&WT Ca|
Ay fRrgid T8 82

1. Proceed from known to unknown. / x| JTd I SIITd Pl 3R dedl %I

2. Proceed from simple to difficult. /\_rﬁ TR Y B Bl 3R a—({(ﬂ%I



3. Proceed from complex to simple. /Gﬁﬁﬁﬁﬁwaﬁ GhTEIE_dT%I
4. Proceed from concrete to abstract. / Sl Y | & bl 3R aE_CIT%I

Correct Answer :-

e Proceed from complex to simple. /Gﬁaﬁﬁﬁwaﬁ GﬁTEIE_dT%I

4) Inclusive education is currently a strategy of education based on the based

approach. / THAN RigTadq@®  smeria eI & e = Riem ) ve o 21
1. Sympathy / FgTIHfd

2. Charity / §F

3. Apathy / ScRIIHdT

4. Rights / 3TUPR

Correct Answer :-

« Rights / STDR

5) Gender Schema theory was introduced by ./ foir Tt (\_;k"R' EﬁTIT)
Rrgia & gRTuga far man o

1. Jean Piaget /i foarst
2. Kohlberg / ﬁ%ﬂ_@lﬁ

3. Erikson / Q'm:\‘:l:[
4. Sandra Bem / TSI CL|

Correct Answer :-

« Sandra Bem / ﬂT@TaT[

6) According to Vygotsky’s theory, the most suitable instruction to support social learning is

./ AT & g & AR, ATATRTS SIftRTH & Jad= w4 & fore wew Sugaa
frdw 2l
1. curriculum / UT&dshH

2. students work together on the task / DT S WR TUh Y Hh1H P % [

3. students’ individual work / 29I>I\I'$ OLIIFOTK‘I‘Id 0|’>I¢-Ir

4. traditional teaching / TRUR fRr&for

Correct Answer :-



« students work together on the task / ST IR W Uh Y HhTH I % [

7) What are tests that rely heavily on language based reasoning called? /

O UT&10T T HEATd & Sl HTST MR dhefad iR AR &3 82

1. Accuracy tests /CII?S{@EII giefor
2. Culture fair tests / G A D UI&UT

3. Verbal tests / ﬁﬁﬁ qﬁ&rﬂT
4. Nonverbal tests / b TRTeor

Correct Answer :-

e Verbal tests / AP TRieqor

8) What aspect of personality makes a child more likely to be outgoing? /

Hfdr ¥ foa Tgq & 7= & smaems (i) g #1 Fvraer 9 St 32
1. Extraversion / SgQadl

2. Introversion / ST

3. Socialisation / JHTSIHRUT

4. Neuroticism / HTQ%T%
Correct Answer :-

 Extraversion / EI’%’EI'@HT

9) Bandura’s 4 principles of social learning are: / o UfeRTH & Q?RT & 4 Rygia HUPR f
1. Metacognition, Attention, Engagement, Motivation/ ﬁ?:”m”@m:r, T, 9314, RO

2. Retention, Cognition, Attention, Motivation/ cri%rw, 3@'{%, T, RN

3. Attention, Retention, Reproduction, Motivation/ &1, EIﬁf‘EI'ITUT, ol RO

4. Attention, Engagement, Collaboration, Motivation/ ®T-, JgId, ﬂ%fﬁT[, TRUT

Correct Answer :-

 Attention, Retention, Reproduction, Motivation/ &I, EIﬁfﬂWUT, Uol--, UROT

10) Adolescences form their own image and integrate their own ideas as to how they wish to be

referred to, this is /%@?MWH%E‘%W%WWW%WE%W
T & 6 3 e ave wefifa g9 9red €, 7 weaman 3

1. Crisis / g&c



2. Ego identity / 38 UgdH
3. Ego ideal /3(§ 31X

4, Ego / 3§

Correct Answer :-
« Ego identity / 38 UgdH

11) At what age does the child learn to control the expression of emotions? / yrg-ref & siftreafad
ot forifaa o= T [ omg # draan 82

1. Adolescence / forRIRTaRIT
2. Birth to two years / ST H I a9y da&
3. Late childhood / U¥Y STedTdRT

4. Early childhood / URT¥eh STeara=T

Correct Answer :-
« Early childhood / URT¥eh STeama=T

12) Which of the following theories acts as a bridge between behavioral and cognitive learning

theories? / FrEfoIfaa & A #11- 1 R aeR oMk GamTa® Siftnm fgial & o e ag
BT HTH HIdT 32

1. Humanistic theory / HTGdTATG] (Bﬂﬂm) g

2. Cognitive development theory / JRHIHB famrg g
3. Social learning theory / JMHTSID SHITH RigT

4. Existential theory / 31T i

Correct Answer :-

« Social learning theory / TS SHfERTH RigT

13) Which of these statements is true with regard to aptitude and competence? /37{&@ -1

HY I SR &1 & ey & 0 32
1. Aptitude is an inborn potential to do something. / P& H & o TGl Uh ST SHTEAT

(SPTIEHA) B
2. An aptitude is a developed knowledge. / g1 U fasmRid 9 gl
3. A competence is a part of an aptitude. / &HdT TUh I &1 U fRwa B

4. A competence is an inborn potential to do something. / P& PR & [T &HdT U STSITd SHTGHT

(@Tieran 3|



Correct Answer :-

 Aptitude is an inborn potential to do something. / P& A D ﬁfq gl LEASEEIGESICEI

(@rferman B

14) Who introduced the term L.Q. (Intelligence Quotient)? | fpaa an%aq @@ SUCTRIT) QG &I
gfarafea fosar?

1. Terman / <4

2. Galton / Tee

3. Binet / fomie

4. Guilford / FTeT®TS

Correct Answer :-

o Terman /THT

15) The psychologist who discovered that children’s perception of reality is not learned from adults

but is constructed is: / 98 A ORI TdT T foh T} b IRATIP AT B YR TUTHI A
T Wt =it B, Afp= g3t fAwtor far wrar 8 3 €'

1. Jean Piaget / S oSt

2. BF Skinner / &I Uh PR

3. Amold Gesell / 3TeS Td

4. Howard Gardner / Epl?ll'lt%c Tﬂé:R'

Correct Answer :-

+ Jean Piaget / ST oSt

16) During which stage do children start reasoning? / o 3a¥IT H = T HT IRE Hd &2
1. Adolescence / [ RIRTaRIT
2. Late Childhood / 3R dTedTaRT

3. Infancy / BIRCIERS)

4. Early Childhood / Jd STeama=l

Correct Answer :-

e Late Childhood / 3<R dTcdTdRT



Teachers should take a/an rather than group perspectives when
considering diversity in the classroom. / HE&T A fafgear v foar &= TJHY,
el o1 Ig & R & Iora TH & =PI B &= TG
ElHY

1. Group factor / JHg PRD

2. Opinion / SffHFd
3. Student / B
4, Individual/mﬁ

Correct Answer :-

« Individual / SAfFITd

18) Which of the following is not an aspect of metacognition? / fafafaad 9
T Fbad (ASTHRHIR) HT TP Ugd ol 82

1. Altering consciousness/d=T H AT

2. Revising cognitive strategies/IMTHD U BT T HRAT

3. Planning cognitive strategies / IITATHD Ut @1 YT ST

4. Monitoring cognitive strategies / IITATHD U &l AR AT

Correct Answer :-

 Altering consciousness/dd- H ]

19) Which of the following is not true about the teaching process? / frrafefed
# Rreror uferar & IR A w1 9@ TE 82

1. Teaching is the process with a purpose to bring about learning. /QT&FUTW 3%?3 & a1y
SIFTH Pt Ui g |

2. Teaching does not sway the whole process of learning. /QT&‘I'UT?E[ Waﬁ@mqﬁ
gl

3. Teaching does not need a formal set-up. /e & forg @Wgﬁuwﬁ 3IIHl ol
g

4. Teaching should be centred around student. / R1&0T B & 3M9-UN digd gHT IeT|

Correct Answer :-

« Teaching does not need a formal set-up. /ﬁT&WT%%TQ W@ﬁﬂﬁa’ﬁ Wq—ﬁﬂ
gl



20) Which of the following does not apply to the brainstorming process? /

fFrafafea 9 @ wn faar faust ufear & e arg =18 gt 82
1. Generation of unusual ideas. / SFHTI faaRT &1 goi-|
2. Criticism of ideas. / foaRT &t A

3. Associating different ideas to come up with a new one. / T & 1Y 3 & ford fafia faaRi &1
S|

4. Quantity is more important than quality. / J[UTdI Pl KL H AE 3fdew WE'@TIUf %I

Correct Answer :-

« Criticism of ideas. / faaRI &t STAR—ATI

21) According to Martin and Halverson, when young children observed gender inconsistent
behavior, they tend to have:

/ ATFEA 3R BRI & SR, 9F BIe Tl 1 ol & SRITd SAIER FT @l o,

1. A distortion of memory/ Fﬂﬁf Cdl ﬁ?ﬁ
2. An accurate memory / Y Idis Fﬂﬁ

3. A rejection of the behavior/ SIAER 1 &Wﬁ

4. An imitation of the behavior/ AdgIR ﬁ b ]

Correct Answer :-

A distortion of memory/ Fﬂﬁl il ﬁ?ﬁ

22) What problem do children with anorexia nervosa typically have? /@WT ECIGIE:

afra =t 3 IRk w0 & wr s i@ 32
1. Problems with impulse control / T FA=01 & T1Y JH
2. Problems with body image RRR Ui & I1Yy JHHT

3. Reduced physical exercise / PH R AP ™
4. Excessive eating / AP HIoH BT

Correct Answer :-

» Problems with body image / YRR UfaHT & 1Y JHEmg

23) What is more likely to help a child remember a story by Tagore? / SR R TS Bl

P I1E TG | 9 B HEG DB D1 AfUP THIGAT 1 82

1. The moral of the story | FETI & Afde



2. The size of the story / BB BT HTHR
3. The font of the letters / 3{&R] &1 Bl

4. The colour of the title /‘\Tﬂ'% CIRU]

Correct Answer :-

« The moral of the story / B8 BT GIGED

24) Eliminating caffeine and sugar from diet before bedtime ensures - / 1 4 Ugd 3MER 9§

S 3R T B T BT 59 G HIT 8:
1. Reduction in stress / d-1d § A

2. Good functions of muscles / ATIURTT & ésav W

3. Good sleep / 3! Hig

4. Good absorption of nutrients / UIN® dedl DT 3BT TN

Correct Answer :-

» Good sleep / 3T g

25) How information is typically stored in semantic memory? / 3{H MR W

e Wfa (REifee Ak & SeR 2 Wudid gidt 22
1. Networks/Tcaan|

2. Skills/ DI

3. Tasks /@1

4. Groups mﬂ@

Correct Answer :-

. Networks/ﬁ?a?b;f

26) CANCELLED

Which chart shows that the highest return of investment in education is maximum during the early

years? /ﬁ-ﬁﬁ@@ﬁ%%%ﬁﬁ%%ﬁﬂﬁﬁ%ﬂﬁﬁﬁﬂm%?
1. Heckman’s / %ﬁ:l
2. Wisconsin’s/ faxaIf=a

3. Hurlock’s / EWVW
4. Puberty’s / BICE]



Correct Answer :-

e Heckman’s / %ﬁq

27) Mild retardation is a category of mental retardation having an IQ of .

| 9g WHedar AAR®G Hear el qofig o _ w1 ey gar gl
1.70 to 89 / 70 ¥ 89 dh
2.20 t0 29 /20 ¥ 29 AP
3.50 t0 69 / 50 H 69 AD

4.30to 49 /30 9 49 A&

Correct Answer :-

.« 50t069 /50" 69 ddH

28) To improve the problem solving skills in children, which of the following

things can be done?/ S & YHHTSH ) JAHH & P A JUR H1 & 1T,
frafafea & @ w fear s a@ar g2

1. All of the above / SURT T

2. Invite children to talk or write about ideas only / $Had fGaRl & IR & o1d A a1 foreq &
INCCEICIRIEIERE R

3. Ask children to draw pictures for stories only / T I Had a'TEﬂﬁq)f & 1%111 [CEGEIEKA] a'% |

4, Use blocks and models only / Had sl 3R AT BT IUTNT B |

Correct Answer :-

« All of the above / 3URad IHt
29) Inclusive education means: / GHTARN fRram &1 3ref 2:

1. %ducation for all children in school. / ¥l 7 gt 5= & ﬁﬂl fRrem| gwmaxft e ot of

2. Education of intelligent children. / i &= &1 e
3. Education of the poor children / RIS &=l ot fRref
4. Education of the minorities / 3/cIaB®! BT fRI&m

Correct Answer :-

. %ducation for all children in school. / ¥%a ¥ Tt sl & forg fRrem | Tma=h fRiem &1 s



30) GAD stands for: / STl &7 314 §:

1. Genetic Anxiety Disease / S{Tﬂa% IEGIEW] (@ﬁﬁa? Qﬁr{?ﬁ %@GD

2. Genetic Anxiety Disorder / 3TIdRI® Ridl fa@R (SHfew Tomge! fewaiieR)

3. Generalized Anxiety Disorder / ARG fdl fABR (SRR Togel fewsiiey)
4. Generalized Anxiety Disease / RIIHd AT I (FRgse Torgc! fedls)

Correct Answer :-

- Generalized Anxiety Disorder / TG Al fAdR (TRAZvs Togd! fEwaiieR)

Topic:- General Hindi (L1GH)

1) ¥R § st afe Smg

T 919 Hgd AYH &, GHER T4 YT
T ifd TR g ufRd €, 99 T Uy v
941 IS W S I, SR veT
S U TR IR &, W 3 Stea 4|
3F 3T 7T B UTSE, I 9 §d gRICI

o T Sfifa BY 3y, W 3R srifa geTUl
ST $RA @ TR YR, Sl WA A A1fE qare|
ST UL $I UgH 1 TR WA aTdt YA BT IR Ja1s¢l
TY: “Siad YT’ T A1 g1 72

1. gHqd-fhd A

2. TH Y IS 5T

3. Y19 Siarat gt

4. YTQ fgerd ot

Correct Answer :-
. gHA-fRa &
2) &R & rorifer afe emul
T 919 Hgd AYH &, GHER T4 YT
$% 3Hfd IgR gd UlRd oY, 319 [ UY UgTu|
T¢I gfS S i I, FT-HeH ysTu|



S U TR I &, W Stea 4|

3F 3(U T B UTse, I9d 9 §d qRITI

o Tt SFfifa B MY, o SR Srifa geTUl

ST $RA N TB YR, Sl U A A1fE gare|

ST Ui $I Ugh A TS WA 9T YA BT IR Ja1s¢l
T 3% 3fa IqR g ufed St A T areqd g2

1. 3TH Y BIs Ta!

2. IR AN TH B & |

3. AR HH T 81 Bl |

4. TS ANITRA I G IR &

Correct Answer :-

- HAITRA AT IR 3

3) &R & Treriifa ufg sl

et 9T FEd AYIR F, AR TS U

3 3ifer TgR g ufedt &, o/ T3 U vey

941 3G St S I, - yeTu

S Wa @R SR &, W fEa Siea 4|

3(q 3(U T B UTge, Iod o §d qRITI

o Tt SFfifa BY MY, o SR Srfifa geTUl

ST SR @ TB YR, Sl Yo | 1S Jare|

ST U F UgH 12 IR TH ard U= $T Sk ga1s¢|
TY: 3T TE Y YT W MIT i 3y oY 3R Wbd B 781 82
1. TUY AIfgd Bt 3R

2. Rl o ufax efviy &t iR

3. 7% o A1ed H Ug T Y BT 3R

4. foreit 3R T

Correct Answer :-

. % & AI-ed T g T U B 3R

4) R & woifa ufg sm
Fqeh 919 Hed AYPR &, THER TG ¢



3% 3fd Ige ga ufeet &Y, 9@ & Uy veul

T¢I gf S St 3@, SRT-1eH ysTu|

S U TR I &, W 3 stea )

3F U4 79 B UTse, TAd I §9 TRITI

o T efifa B 3y, W 3R srfifa geTUl

ST $RA N TR R, WA WA A A1fE qare|
ST UL $I UgH 1 TR WA 9T YA BT IR Ja1s¢l
U MG & TR ST BT YH T G A2
1. & o BT UTe B |

2. TSN 1 Y O 3R TSI R Bl 3 7 3 ¢
3. ol o for fasra o2

4, JSTEH &7 UTer B |

Correct Answer :-

o TSI GY A 3R TS R Pl 3T 7 M S

5) &R ¢ wroifa ufg syl

et 9T FEd AYFR F, TATAR T UIT|

3% 3fd Ige ga ufeet €Y, 9@ & Hu Teul

T¢I gfS S i I, FT-HeH ysTu|

S U TR IR &, W 9 staa |

3T 3 7T B UTSE, Iad 9 §d qRICI

o Tt SFfifa BY MY, o SR Srifa geTUl

ST $RA N TR YR, S WA | A1fE gare|

ST U $ UgHR A2 IR TH AT Y= $T Sk ga1sy|
o MU 7 fPad Areaw A F7 61 3 TS/ Vol &1 yar frar 32
1. Ty

2. BTgl

3. 3&d

4. 3= Mol

Correct Answer :-



6) gt & JeHifa ufe sl

T 910 Hgd AYH &, GHER I YT

$% 3Hfd IgR gd Uled oY, 319 [ T UgTu|

T¢I gf S S 3@, ART-1eH ysTu|

e U G 3T &, W R Staa )

3F U4 79 B UTse, TAd I §9 TRITI

o T erfifa B 3y, & 3R erfifa geTUl

IS RA 1t T G, S U1 7 SIS Jare|

ITYed U $I USH R YD WF ard U= BT IR Id13|
" M = v a1 T1gd | frd W o faam
1. M Igd Bl

2. 16T G i

3. 3T HTHT &Y Bl

4, 3D TS TR DI

Correct Answer :-

. T Igd B

7) Rt & JeHifa ufe sl

T 919 Hed AYH &, GHER T UTT|

3% 3fd Iqe ga ufeet &Y, o & Ty verul

I gf S S 3@, SFRT-1eH ysTu|

S U TR IR &, W 79 Staa gl

3F 3 A BR UTSE, I 9 §a GRICI

o T Sfifa ®Y 3y, o 3R srfifa geTUl

ST SR @ TR R, S U | 1S qare|

ST UL $I UgH A TR WA 9T YA BT IR Ja1s¢l
u: HOT A MW F oI SRT-T3Y UsTe 1 1 Aaad 82
1. YIT-Ha=T fHofamn

2. 3AH-fadH B B Byl

3. BUTAHTI 1 ST Bl

4. TR §dRIT

Correct Answer :-



8) &R & wrerifal ufg sl

et 9T FEd AYFR F, TATAR FY UIT|
T ifd TR g ufRd €, 99 T U veru|
941 IS W S I, ST veTu
St U TR IR &, W Stea 4|
3F 3 7T B UTSE, I 9 §d gRICI

o T SFfifa ®Y 3y, W 3R srifa geTUl
ST $RA N TR YR, Sl Ul A A1fE gare|
ST UL $I Ugh 1 TS WA 9T URA BT IR Ja1s¢l
TY: T U gd Bt T Ul 32

1. ST ardl d-

2. ¥fe o ferg

3. Peiidd HIRATS & [T

4. IO <1 BTC-<ITel S

Correct Answer :-

o T &7 gTd-aTd S

9) &R & rorifal ufg amy

et 9T FEd AYPR F, AR TS U

3% 3fd Ige ga ufeet €Y, 3@ e Uy Terul

941 3G St S I, - yeTu

S U TR W &, W 9 Staa |

3F 3 7T BR UTSE, I 9 §d qRICI

o Tt SFfifa BY MY, o SR Srifa geTUl

ST SR @ Tg YR, Sl Ul | g gare|

STT UL P UgHR H1Y YR oH T U= $T Sk qarse|
TY: 39 UG & 3id B WgTd eg Srifar A 1 1 arend 82
1. forifa &

2. Hifcfag

3. HifeRfgd

4, 3O



Correct Answer :-

10) &R & Iroifa ufg emyl

T 919 Hgd AYH &, GHER I YT

$% 3Hfd IgR gd UlRd oY, 319 T U UgTu|
941 IS W S I, SR veT

e U TR IR &, W Stea 4|

3F 3T 7T B UTSE, I 9 §d gRICI

o T Sfifa BY 3y, W 3R arfifa geTUl
ST $RA N TR YR, Sl U A A1fE gare|
ST UL $I Ugh 1 TS WA 9T YA BT Ik Ja1s¢l
TY: 39 UG H YT g U B’ BT R 3 72
1. o1 7 i Xgar 8|

2. S 17 RR /AT 5

3. @1 7 RR 8T | 5|

4. T DI Hal SR AT

Correct Answer :-

. T DI FHal AR AT

11) &R & rerifer afe emyl

T 919 Hgd AYHY &, GHER I UIT|
3% 3fd Ige ga ufeet €, 3@ & Hu veul
¢t gfS o oY S, SNT-H3w verT

S U TR IR &, W 9 Stea 4wl

3T 3 7T B UTSE, I 9 §d gRICI

o Tt Sfifa BY MY, o SR Srifa geTUl
ST $RA N TB YR, Sl U A A1fE gare|
ST Ui $I Ugh A TS WA aTdt YA BT IR Ja1s¢l
WY: 9 UG H aIR-IR g fus wer man 82
1. Ra &t

2. ST St Dl



3. faw &t
4. PO DI

Correct Answer :-

12) &R & rerife afe emel

Ui 919 Fgd AYHR &, TAER 94 Q|

3% 3fd agR ga ufeel &, o/ & vy vgrUl

41 3G St S I, SR yeTu

St U G IR &, W Shea )

3T 3 7 BR UTSE, Iad 9 §d qRICI

A R orfifa B oy, & R 3FfY goTUl

IS RY At ¢ G, S U1 7 1 qare|

SUT U F UgHR AR IR T ard U= $T Sk ga1s¢|
UY: 39 HiadT & ‘AYDY’ g fhad fIe ugad gan g2
1. YR SR MiUGT gR1 Id & fog; <1 6t et ©

2. P DI IRRA & ferg

3. Fad ¥R & faw

4. ae UG gRT Igd & for

Correct Answer :-

- HIR 3R MUGT gR1 S5d & frg; <1 €1 4el ©
13) &R & reriifr ufe emel

Ui 919 Fed AYHR &, TANER 94 Q|

% 3 IgR g ufed g1, 3F % U ueru|

T¢I gf S S 3@, SIRT-1eY UsTu|

St U TR IR &, W Staa 4|

3F 3(UA T B UTge, Iod 9 §d qRI¢I

A R orfifa B oy, & R FfY goTUl

IS TRY At T G, S U1 7 SIS Jare|

SUT U F UgHR AR IR WA aTd U= $T Sk ga1g¢|
wy: for ama A it 3t fave 1 & &t &1 & fFHar



1. AU 1 faRly

2. 3Gd BT T 3R I R 101 &t g
3. W1 Y famT

4. TR faiy

Correct Answer :-

. IGd BT TTHA 3R 99 R 0 &t g

14) &R & Irorifa fe emy!

T 910 Bgd AYH &, GHER 94 YT

3% JAfd IR ga ufed &, 3@ T UY ugTu|

T¢I gf S S 3@, SFRT-1eH ysTu |

S U G I &, W R Staa um)

3F 3T 79 B UTse, TAd I §9 IRITI

o T erfifa B 3y, & 3R srfifa geTUl

IS RY A T G, S U1 7 SIS Jare|

IUYed U Bl USH R YD WF ard U= BT IR Tds|
wy: 3R A W 7 I fFaet Mt & o A fear?
1. SORTE BI

2. garE1 &l

3. 3P Bl

4, 3&d Bl

Correct Answer :-

. IGADI

15) UFSd AT Ft S T W F $© Tugt ° 781 3mar fF S ok 38 wrd & an wrawn S at vad
& 99 DIt AT} Afvteg Ui 31, foRT W A1 &1 g foran Siman @ $fR Y v weft weT g foran
B g IR S8 wrf 39w 3t Fed § gl TR0 urelt it 7 SR 39T g, A, W dur fasan s
21 U1 ATqH gar 8, 3 i 3afie A ust % 99 3§ & freufa &1 gumaR fRrar wmar 8, 39 @w_E e
Hid gU-ARa-T 91a1 3| &l 3 81, A 3@ S formq &1 fFyg o3 o 81 &3 919 Ugd UF IR TP [P
T A g T 33 He ot f 99 37 39 W T 7 9@ AuAT 3 foran; afes g Sud forem 7 oo
TgraT € 7 4TI Id B T A g 9et 371 Fraar-aan | e wae +1E ara ot g a8 e 6
T ®Td 30T, Yg-8T14 T, |1 v, faaes-awe=1 @, goiA o, aemm 9 firan, «8) wrga 9raq
i dtedr Yie f5ar iR wiaT1 F R ugR fiR o1, Wi B, iR ar faran, fisr foae avman o @t
= 9T 74T; diedp) B HieH B iR 1 ¥8T1 g8 99 e g3t 3resT1 7 ovrar 4T 39fie 39 38 W
A7 ot & BuSt 3R -G forg®dr I8 W P41l o9 | 98 38 JAT g, a9 A WH-3e B
T fore ois faar ok aidt & wusi &1 fgue uftsag= & o s1a fean



afp 3rd A v ST G SRR B T[T &, THBT T HRUT g2 A4 AT 7 5 30 g gl 3, iR ARy
gard g7 3 ST §1 ST 3rd & bR araT] 1 T Ay, R ToRSh & A i gorny S8 fera
SR HaT §1 3 =mf: wfe: wnfe: | A % snerea wraaTe ik waf¥are &t a8t waf g wT §)
grare 1 3 g § fob Wt vy sReR g1 & SrvA ararard fagel | oY 39 fawy & e §, St
FrUIT, Smard Tsgasht 3R mard fuereel | Yo aredT § 1 99 999 $A TR 8 b 82
T TESaol I &1 B T 9 HY, MR I7F o a9 mard W U § Ju1 9o &, R a8 Fan
ARATE? TUPT A df 981 81 THdT & {6 a1 & 90 =T YR HR P 98 faRTe U YRoT a2 |

ITYe TRIIRI B UgH 19 IR 7T U= &7 I« 9a13¢|
TY: A b1 guiid fpd WR foran siman 82

1. SR

2. foreit 7 =1t

3.8 WY

4, YW

Correct Answer :-

. SO H

16) UfSd TR Ft SR 71 AW 6 $o Tum # g1 omar fp 3§ ok 38 wrd & ar wrawn 30 ot vwd
2 39 B3 Trdt afvieg Nf F1, oy R A3 &1 g et Sivar 8 3R Wi ura: it wer gey foran
FYd g IR S8 B 3T WM $t Fgd § 8T TH-UH UTelt Sl § 3R IAPT g, ARG, W dur fosar siman
21 U1 AIH BT ©, 3% i 3afere A veT % S 39 7 freuufa o1 gwR forat i €, 39 @RE -
wfa gU-ueEH 99a1 81 S 9 8, A7 or@ 38 Rraq &1 e 3% R 31 #€ 91 Usd 0P OR U D
I 9 g9 T S8 He B A1 a9 B 39 W U WA 9@ U1 g1 fora; Afh g9 I9d foran 3t g
AT 8 7 4TI 9 B1 G A Ugd gvel 937 a1 g forew @ 318 ara ot g 98 foren %
WId:P1d 3T, Ya-g1d 4T, W foban, foaas-a<-1 avman, gorn fsan, st | fran, w8 arga aram m;
fipe dew Mo forar SR I FR ugR bR a1, H1 BT+, fise = faran, fbr faae avman ik s
qia= 9T T4T; died) B HieH B iR 91 ¥8T1 I8 99 fore g3t 3resT 71 @vraT 4T 39fie 39 S8 W
A it F Fust R - fRrae? IV W fFaT o A 98 S J9TW g3, 99 A Td-3mHe &1
feame fore ois A ok ot & Hus! &1 fewme uftsarss & o s1a fean

AP 3@ | fpT S foRaAT SIR™Y F |1 §, ST FT SR 32 A JAT 8 6 399 3y w8, 3R ary
uerd §TY 3T 9ITd & | SARIT 3@ # b WA ST 719 dAaw, 3R TORISH & |H 2 FP1ax S faran
IR el §1 3 : JOY: IR | T A b oip e AnaTe SR GufvdTe 9 9 74t G @1 §
gregarg $1 3 gg 8 for Tft a7y R |1 Y 7 e wrard fagl @ <t 59 fawa & e €, S9-ot
Ui, A Reggael 3R Smard SywTrel & Y@AT @redl § & 99 799 $8 W 8 99d 22
AR} STl gt &1 B AT 7 B, TR I o a9 mard A U § a1 9ad 8, e g8 Fa
[TaTe? SIS Addd df 98! 8 GodT ¢ % a1 & aTH- U YR S I 98 faRTe =7 YR HR & |

IUY e TR B UghR 19 YD T U= P Ik qa13¢|
TY: STARI &1 IuANT fovd ol & ferg g9 a2

1. Had Uidl & HUS| BT

2. HAA SHTHEG-T BT

3. Qoll & @d &1

4, el & HUS! BT 3R MHEA-TE Gl BT

Correct Answer :-



o Yidt P HUS! BT 3R AHSA-TT GIHl BT

17) UfEd AW F) S1ad: w1 A 6 vo THm A 7€) ardr i S o & v A wur Fvwwn I @ P
2 3 B3 Trdt afvreg Nf o1, T R A9 1 gaTa @ Sivar 3 3R =i wra: weft wer gey foran
FYd g IR S8 Bl 3T R $ Fgd § T8 TH-UH UTelt W1l § 3R IAPT g, AaEH, W dur fosar siman
21 T ATgH BT §, 3 B 3afire AW veT % S 38 7 freuufa o1 gweR foran i €, 39 @RE -
wfa gU-aRa aa1 31 S $9 71, A o S foram &1 g w7 foran 31 € et vgd U IR U e
T 9 g3 T 38 He B A a9 A 39 W ve udA 9@ v g foram; A g9 9 Rram 9 p
I 8 7 UTI 79 BI G A Ugd gvel 98T a1 g forew aras +18 ara ot g 98 foren %
T ®Td 3oT, Yg-8T1d &, |1 foban, faas-awe=1 @, oA e, e 9 firan, «8) arga arq T,
e demy Mo frar SR Aan FR ugR R o1, H1 o1+, fise e faran, fbr foaae avman ik s
qra= TdT TT; died? e WieH fBar ok I Y811 g T9 e g3t 3resT 1 rar YT 39foe 39 S8 W
A it F FuSt R M-I fRrae? IV W fFa1l o9 A 98 S J9TW g8, 99 A Td-3mHeH H1
feare fore ois faar ok ot & wus! &1 feuma uftsarg= & o s1a feam

AP 3@ A e S R SRTY FR TET &, TABT T HROT 82 A 71 § 5 399 31y gedl 8, i IRy
uerd §TY 3T 9ITd & | SARIG 3@ & i WA &7 719 A, 3R TS & |H 2 PP SO faran
R HIAT §1 S y: Tf: S | o 7 ¥ Seiod rHaTe 3R wafdare @t 9t Tl g @1
grare &1 34 g § 6 @it g Rrer 8| At & Srom wrard) fagl | it 59 vy & e €, S-oht
Ui, mard Aeseaett iR A Sfiuwrel § USHT drgdr § & 99 799 8 W 8 THd 82
MR AREdae TS &|T B AT 7 B, WR 9P o 9 mard A U & wa1 a%d g, v a8 &
ATAIE? SHST Udad dl Tgt g1 IHdT ¢ fob a1 & aTa+T ©U YRV $HR 0 98 faRTe U YRR 9|

ST TR B UghR 1A IR T U= T Ik qa13¢|

7Y: ST} fieA W I e wdi @ aron g1e feran?
1.

2.3

3. 9%

4. dR

Correct Answer :-

18) UfSd TR Ft ST: T AW % $© Tusr § A1 3iman for S ok S v & wam wraww St dgd
& 39 Bt AT} Afvreg Ui 31, foRT W A0S &1 g foran Siman @ 8fR oY v weft weT g foran
FYd § MY S8 B I W Y Fd § Tl TH-HH urelt St § SR ISP gy, TRaH, O R fosar srar
21 U1 ATH gar 8, 3 i 3afie A ust % 99 3 A frufa &1 gumeR Rrar wmar 8, 39 @wvE e
Afa gU-9Fa g9a1 31 S $9 81, A7 o S8 foram &1 frgrg o7 foran 31 o€ 9Tet 1A UF IR U [RA$
T A g T 3 He ot B 99 A7 39 W e 7 9@ AuAT 71 fora; afe g sud foren 7 oo
TeraT € 7 471 Id B A A g 90ef ST Fraar-an | e wrae +1E ara oft g a8 e 6
WIA:HTd 361, Ye-g14 a1, W b, faae-aw=1 avman, g fsan, gt & e, w3 arga ara- m;
i diewr Yie fhar iR wiaT1 F R ugR fiR a1, W o, iR | faran, fisr foae avman ofik ot
S I T4T; died? e WieH fHar 3k O 3811 U I9 feramT g3t 3res1 7 rar Y11 39fore 39 S8 W
A ot & Bust SR mHE-Td g 3Q T fFHan o9 A 95 S8 G g3, 99 ¥ WG B
T fore ois faar ok uidt & wusi &1 fguma uftsargs & o s1a fean

AP 3@ I fie S T SRTY FR T §, TABT T BRI g2 B 1 8 5 399 3mg gedl 8, iR IRy
verdf g1 3T 9Td & | SARIG o & i WTar &1 a1 A, 3R Torrsh & |ra- 2 gpras SO feran
SR HaT §1 3 =mf: wfe: wnfe: | & A % snerea wraTe ik waf¥are &t 9t waf g wT §)
grare &1 3 g @ fob Wt vy sReR g1 @ # oA arwrard fagel | oY 39 fawy & e §, St



U, A R-gedelt R SR Fiuae A TS 95gdl § (6 99 379 $H R g1 Jhd 872
M TEdasi Yo & Y TT 7 BY, WR 9P o 9 mErd A U & 991 994 &, B a8
ARYATE? TUPT A df 981 81 TSl 3 {6 a1 & 90 = YR HR P 98 favTe U 4RoT a2 |

ITYe TRIIR Y UgH 19 IR T U= $T I« Ia13¢|

WY: IHTd HIeI™, STARY fora= & T Tt 3R fva=t uard 514 ma 82
1. I-3fdd

2. Hicd-graTe

3. 31, ARI

4, Y-y

Correct Answer :-

19) UfSd TR Tt SR 71 AW 6 $o Tum # g1 omar fF 36 ok 8 wrd & a7 wrawn 38 ot vwd
2 39 B Trd) wftre tift 31, forT W A1 &1 g foram Siman @ iR Y wr: weft weT g foran
FYd g IR S8 Bl 3T WM $t Fgd § T8 TH-UH Urelt St § 3R 3P g, A, W dur foman sian
21 U1 AT BT 8, 39 Wt ufee A vst f S 38 # frea-ufa @1 gwmErR forar s @, 39 awe -
Ui gU-AaRa S1a1 81 St $© g, A oF S8 foramt &1 fArgra = foran 81 8 9Ta gdl U OR U9 (WS
T A g3 T 38 He B R a9 A 39 W ve udA 9@ v g foram; A g9 o9 Rrem 9 p
I 8 7 4TI 79 B1 99 A Ugd gvel 987 Traar-Fn g forewt aras <18 ara ot g2 9g foren %
WId: 3T 3T, Ya-g1d 4T, W foban, foade-a-1 avman, gor- fan, st & firan, w3 arga aram m;
i diewr Wi far iR wian1 TR gx fibr Sot, wi o, fhr ar faran, fiee e avman ok ot
qia= a1 T4T; died) B HieH B iR 41 ¥8T1 g5 99 fore1 g3t 3resT 71 @vrar 4T 39fie 39 S8 W
A it F Fust R M-I fRrae? IV W1 fFuT o9 A 98 S 9w g3, 99 A Td-3mHe o1
feare fore ois A ok ot & Hus! &1 feume uftsars= & o s1a fean

AP 3@ A fie S8 R SRTY HR TET &, TABT T BRI 82 A 71 © 5 399 3y gedl 8, i IRy
mﬁaqmaﬁ%lsvﬁrqamﬁﬁwmmqmam 3R oISl & A 2 geree S e
R HIAT §1 S y: Tfy: S | o <77 o STeiord reaTe 3R wafdare #t 9t Tl g @1 |
grare &1 34 g § 6 Tt g sRrer 8| @t & Srom wrard) fage | it 39 vy & oA €, S-oht
Ui, 3mard Aesedet iR A Sfiuwrel § YSHT d1gdT § & 99 A9 $8 W 8 IHd 82
TR REeae T &HT B AT 7 B, WR 3P o fiF mard W U & 9ar g%d g, B a8 &
ATATE? SHST Udad dl Tgt g1 AHhdT ¢ fb a1 & aTaT ©U YR $HX I 98 faRTe U 4R 9|

ST TR B UG 19 YD T U= P Ik qa13¢|

WY: THId A, fha- 3mard 39 Ue § 991 a%d A2
1. 919

2. U

3.Gl

4.4

Correct Answer :-



20) UfSd AR 1 ST 1 A fob o Tust 7 781 3imar fob S o S wrH | wn gwaw Sl ped
2 39 B3t ard} afreg Nf o1, o IR A9 1 g et Siran 8 iR iy weft ver gey foran
B g IR S8 Bl 39w 3t Fed § gl TR0 urelt Wit § SR 39T g, A, W dur fasan s
21 U1 ATqH gan 8, 39 i gafie A ust % 99 38 & freufa &1 gureR Rrar wmar 8, 39 @w_E -
ofa gU-9Fa a9a1 31 S $9 81, A7 o S8 foram &1 frgrg w7 foran 21 #€ 9e 1A UF IR U RA®
T 7 g T 38 He F At 99 A 39 R v 7 99 SuHn g1 foran; Afe g 39w feream Y o
TgraT € 7 4TI Id B T F g 90et 371 Fraar-aan | e wae +1E ara ot g a8 e 6
WId:HTd 361, Ye-g14 YT, W b, faae-aw1 avman, gore fsar, gt @ e, w3 arga ara- mm;
i dtewr YieH fhar iR WiaT1 F R ugR fi a1, Wi B, iR | faran, fisr foae avman ok ot
SR I T4T; died? e Wis fFar ok Y TeT1 g Ia feramT g3t 3resT 7 rdr YTl 39fore 39 S8 w
A7 it F pust R HE-Ed forae S [ a1l 9 A a8 38 I7T g8, 99 § -G BT
T fore ois faar ok uidt & wusi &1 fgume uftsargs & o s1a fean

Afr 3@ | fbe S8 foRamT ST 3 37T §, SHST FT SR 32 A JAT 2 6 399 oMy daet 7, i Il
verd g1 3T 91d & | SARIG o & i WA &1 71 A, 3R Torrsh & |ra- 2 gopras S feraen
SR HaT § 1 3 =mf: wfe: wnfe: | A % s wraTe ik waf¥are &t a8t waf g wT §)
grare 1 3 g ® fob Wt vy sReR g1 & SroA ararard fage | oY 39 fawy & e §, S
FrUITe, 3mard Egasht 3R e Muweh F qS1 AredT § & 99 979 $A T 8 9hd 82
AR} seae gt &1 B AT T B, TR 9P o o9 mard I U & gur 9ad g, e g8 Fa
ARATE? TUPT A df 981 81 TPl 3 {6 a1 & 90 =T YR HR P 98 faRIe 9 4RoT a2 |

ITYe TRIR Y UgH 19 IR 7T U= &7 I« 9a13¢|
WY UTSd AT A1 U URA Pt A @12

1. I BT &Y

2. A 1Y

3. fbaM BT =T

4. BRI HTEY

Correct Answer :-

o dHIDIEY

21) UfEa AR &t STt Fr AT 6 o qug A ALY orar for 3§ o 38 vl A i g 8 @ wea
2 39 B3 Trdt Afvreg MR o1, forT R A9 1 g @t Sivar 8 3R i wra: it wer gey foran
FYd g IR S8 Bl 3T R Ft Fgd § T8 -V Urelt St § iR 3P g, A, W dur forar siman
21 9T ATeH BT 8, 39 Wt i A vst fh S 38 # frer-ufa @1 awmER foran siar @, 39 awe -
wfa gU-uEH 99a1 81 S 9 8, A7 3@ 38 Rraq &1 2 o2 R 71 #€ A1 Ugd 0P OR UF D
a9 g9 T S8 He B A a9 #9339 W U WA a@ U g1 fora; dfeh g o9 foran 3t g
AT 8 7 4TI 9 B G A Ugd gvel 937 Traar-F1 g forew args <18 ara off g 98 foreen %
WIa: 31 36T, Ya-e1d a1, W b, foaae-a<-1 avman, gore fan, st | firan, w3 arga aram m;
e diew Wie forar SR Al FR ugR f6R a1, 1T BT, fise = faran, fbr faae awman ik s
qia= °aT T4T; died) B HieH B iR A1 X811 g8 9a fore1 g3t 3resT 71 @vaT 4T 39fig 39 S8 W
A it F Fust MR Me-Td fRrae? IV W fFa1 o9 A 98 S J0TW g3, 99 A T-3mHe o1
feare fore ois A ok ot & wus! &1 feume uftsars= & o s1a fean

AP 3@ | b 3 feRaAT SR™Y F @1 §, IS FT SR 32 A JAT 2 5 399 oMy waet 8, 3 Iy
uerd §TY 3T 9ITd & | SARIG 3@ & Y WTa &7 A1 A, 3R T0RISH & |TH- 2 PP S faran
R HIAT §1 S y: Tfy: S | o <77 o Seiod WreaTe 3R wafdare @t 9t Tl g @1 |
gregarg $1 3 g g for Tt agsy RreR |1 Y 7 e wrard fagt @ oY 59 fawa & e €, S9-oft
Ui, S Reggael 3R mard SywTrel & Y@-T Oredl § & 99 799 $9 R 8 994 22
SR AREeae I &|T B AT 7 B, WR 9P o 9 mard W U & war aod g, B a8 &
ATATG? SHST UAad dl Tgt g1 AHhdT ¢ fb a1 & aT8T U YR $HX 1 98 faRTe 0 4R a2 9|




SUYFT TR BT UgHR -1 G Y YA BT IR Ia13¢|
TY: UfSd A1 &1 SRRt § fore & fore - a7 et e
1. g SATal

2. 9gd 9
3. gt §gd

4. 9 ol

Correct Answer :-

- PO

22) UfEd Wi #t STat: FT A b o qugr § ALY orar fo 3 o S8 i A wn g S8 ot wed
& 39 Bt ard} afvreg Uit 31, foRT W A0S &1 g foran Siman @ SiR oY wr: et weT g foran
FYd § MY S8 B 3 W Y Fgd § Tl TH-HH urelt St § SR SAPT g, TRa, O G fosar srar
21 U1 ATqH gar 8, 3 i 3afe A ust % 99 3§ & frufa &1 gumeR Rrar wmar 8, 39 @w_E e
Afa gU-9a g9a1 31 S $9 81, A7 o S8 foram &1 frgrg o7 foran 31 #€ 9e 1A UH IR U [RA®
T A g T 3 He o1 B 99 37 39 W TP 7 9@ AuAT 31 fora; afes g sud forem 7 oo
T 8 7 UTI Id B T A Ugd gvel 3T Wraar-aan g forew arae 91 ara ot g g8 e %
WIA:HTd 361, Ye-g14 a1, W v, faae-aw=1 avman, g fsan, gt & firan, w3 arga s+ m;
i diewr Yie fhar iR WiaT1 F R ugR fiR o1, W o, iR ar faran, fisr foae amman ok ot
SR I TT; died? e WisH fHar ok T 3811 g Ia fora=T g3t 3resT 7 rar YT 39fore 39 S8 W
A o & Fust R e-Td fergee 3/ W7 fFan o & 98 S8 U g%, 99 A WH-SmHE B
T fore ois faar ok uidt & wusi &1 fgume uftsars= & o s1a fean

AP 3@ I e S T SRTY FR TT §, TABT T BRI g2 B J1 8 5 399 31g gedl 8, iR IRy
uerd g1 3T 9Td & | SARIG oF & Y WA &1 91 daw, 3R TorRrsh & |ra- 2 g S feraen
SR HaT §1 3 =mf: wnfe: wnfe: | & = % snerea wraTe ik waf¥are &t &t waf g W §)
grare @1 3 g § fob Wt vy sReR g1 @t # oA ararard fagl | oY 39 fawy & o §, St
Ui, 3mard T¥seasl 3NX et Mybrereh ¥ TS Gedl § % 99 A9 $ R 8 I6d &2
T TESaol T &1 B T 9 BY, WR I7F o a9 mard WX U § Ju1 qod &, R a8 Fan
ARYATE? TUPT A df 981 81 TPl & {6 I1 & 90 = YR HR G 98 faRTe U 4RoT a2 o |

ST TR B UG 1 IS T U= HT Ik qa1su|
WY: Wi A 51 QY argl @1 7=t g &

1. GHISETG TR I1yaTa

2. A F I 7N

3. ATRIATG SR TieftaTg

4. QTRAATG SR qAfYarE

Correct Answer :-

. grgare 3R gHfPare

23) UfEa AR &t sTadt: 7r A 5 oo qug A ALY oar fop 3§ o 38 vl A wn g 3§ @ wea
2 39 B ard) aftreg tift 31, foRT W AR &1 g foram Siman @ iR oY wr: weft we g o
FYd g IR S8 Bl 3T R Ft Fgd § T8 TH-UH Urelt St § 3R 3P g, A, W dur fomar siman
21 U1 UTeH BT 8, 39 Wt gafee A vst fh S 38 # frer-ufa @1 awmErR foran siar @, 39 ave -




Ufd Y-G9 a1a1 8| Sl T g1, A7 3d S forea &1 Figa o= foran 81 8 919 Ugd U OR U qWD
a7 g T S He F At 99 A 39 R UP 7 9 ST g1 foran; Afe g I9w fere B o
T 8 7 ATI 79 B 99 A Ugd gvel 937 Traar-F1 g forem @ 918 ara ot g 98 e %
WTa:STd 381, He-g1y o, | fovan, foas- a1 avmman, yor favan, gt 9 fyen, w4 arga afe
Y diemy Wie foar SR I FR ugR R a1, v a1+, fise | i, fi foae avman ik s
S =TT TT; died? e Wie fBar 3k Y TeT1 g I9 feramT g3t 3res1 7 rar Y11 39fore 39 S8 W
A7 it F Pust R HE-Ed foraex S T a1l e A a8 36 I9Tw g8, 99 § -G BT
feame fore=r o1 fear 3k ot & Sus! &1 fFare uftsarsa & o sTa faam

AP 3@ J fibe 8 R RTY FR 8T §, THBT FT HROT 22 A A1 ¢ fF 399 31y geedl 8, 3R IRy
verd g1 31 91d & | SARIG o & i WTar &1 a1 A, 3R Torrsh & |rH- 2 gepras S feramn
SR HaT § 1 3 =mf: wfe: wfe: | A % snerea wraTe ik waf¥are &t 98t waf g W §)
graare o1 3 g ? fob Wt vy sReR g1 @t & SroA arrard fag | oY 39 fawy & e §, St
TuiiF=g, ARt TRseaett R At Sfiuwerel ¥ USAr g § 5 99 709 $) W g IHd 72
AR} Tseae g &1 B AT T B, TR I o o9 mard I U & gur 9ad 8, Y g8 Fa
ARYATE? THPT UAAd df 981 g1 GHdT 3 {6 a1 & I8 = YR HR P 98 faRTe U YRUT 32 |

IUYe TRIR B UgH 19 IR 7T U= $T I« 9a13¢|
T HSRTH RMEA] T ) 471 9 9 ST A2
1. Pigdr

2. hYl

3.9¢
4. IUAT

Correct Answer :-

o hYl

24) UfEd A Pt STa: F1 A 6 $o THE § T e P 8 iR I8 Bl # wur w3 A vea
2 39 B3 Trdt afvreg Nf #1, BT R A9 1 gaTa @ Sivar 8 3R i wra: el wer gey foran
FYd g IR S8 Bl 3T WM $t Fgd § T8l TH-UH UTelt W1l § 3R 3P g, AaEH, W dur fosar siman
21 T ATH BT 8, 3 B 3afere A vet % S 38 7 freuufa o1 gwER forar i €, 39 @RE -
Afa gU-aRa ga1 31 S $© 71, 74 o S foram &1 g w7 foren 31 € et vRd U R U e
T A g3 T 38 He B A a9 A 39 W ve udA 9@ v g foram; A g9 v Roram 9 p
I 8 7 4TI 9 &I 99 A Ugd gvel 987 a1 g forewt arae <18 ara ot g 98 foe %
T ®Td SoT, Ye-8T1d ¢, |1 fovan, faas-awe1 @vman, oA fan, gemm 9 firan, «8) aga araq
fipe dewy Mo frar SR I FR ugR fR a1, Hr o1+, fise e faran, fbr foae avman ik s
S TdT TT; died? e WieH fBar ok I 3811 g T9 e g3t 3resT 1 rar YT 39foe 39 S8 W
A it F Fust MR M-I fRrae? IV W fFaTl o9 A 98 S J9TW g8, 99 A Td-3mHeH H1
fRame fore ois faar ok aidt & wus! &1 feume uftsars= & o s1a feam

AP 3@ A fie S G SRTY FR TET &, TABT T BRI 82 A 71 ¢ fF 399 31y gedl 8, i IRy
uerd §TY 3T 9ITd & | SARIG 3@ & i WTa &7 919 A, 3R TORTS & |rH- 2 g S faran
R HIAT § 1 S y: Tfy: S | o 77 o ool WreaTe 3R wAfdare @t 9t Tl g @1 |
grare &1 34 g § 6 @it agsr sRrer 81 At & Srom wrard) fag | it 59 vy & e €, S-oht
uiiFg, mard Avseaett R A SfiuwRrel § YSHT drgdT § & 99 A9 8 WIS 8 IHd 82
TR Rsdae T &|T B AT 7 B, WR 9P o 9 mard W U & 9ar aod g, B a8 &
ATATE? SHST UAAd a1 Tgt g1 AHhdT ¢ fb a1 & aTaT ©U YR X 0 98 faRTe 0 4R a2 9|

ST TR B UghR -1 YD T U= HT Ik qa13¢|
UY: W1 ! o= st He ot



1. qoHHE A

2. WHR A

3. Q&I a1t A

4. 944

Correct Answer :-

e (SEACINE

25) UfSd A $t SRR FT A {6 o wHgr # 781 omar & S8 i S8 wid & Fn avawn S8 @ wed
& 39 B3 Trct Afvreg MR o1, orT R AW 1 g @t Sivan 8 iR Wi wra: it wer ye foran
FYd g IR S8 Bl 39w 3t Fed § el TR0 urelt Wit 7 3R 39T g, A, W dur fasan s
21 U1 ATqH gan 8, 39 v gafig A ust % 99 3§ & fraufa &1 aumeR frar wmar 8, 39 @w_E -
ufa gU-9Fa a9a1 31 S $9 81, A7 o S8 foram 1 g o7 foran 31 #€ 9Te vgd U IR U [RAd
T 7 g T S8 He F ot 99 7 39 R v 7 99 Sun g1 foran; Afe g 39w fere Y o
TeraT € 7 471 Id B A A g 9et ST Fraar-aan | e aae +1E ara ot g a8 e 6
WId:HTd 361, Ye-g14 Y41, W b, faae-aw=1 avman, g fosan, gt @ i, w3 arga ara-
i diedr Yie fhar iR Wian1 F R ugR fiR Jo1, W o, iR | faran, fisr foae avman ok @t
SR T TT; died? e Wie fFar ok O 3811 g O9 feramT g2t 3resT 7 rdr Y11 39fore 39 S8 W
A7 it P Pust R THE-Ed forae 3@ [ a1l e A a8 8 I9T g8, 99 @ -G BT
T fore ois faar ok uidt & wusi &1 fgume ufvsargs & o s1a e

AP 3@ T fibe S R SRR FR T §, THBT FT HROT g2 A A7 ¢ fF 399 31y gedl 8, 3R IR}
werdf g1 3T 9Td & | SARIG o & Y WTa &1 91 A, 3R Torrsh & |ra- e gopras S feramn
SR HaT §1 3 =mf: wfe: wfw: | & A % snerea wraTe ik waf¥are &t 9t waf g W §)
gragare 1 3 g ® fob Wt vy sReR g1 @ & SruA ararard fage | oY 39 fawy & e §, St
UG, MR Rseaelt 3R mard SysTeil & U@-T aredl § & 99 799 $9 RIaR g 964 82
AR} Tseae gt &UT B AT T B, WR 39 o o9 mard A U & gur 9ad ¢, e g8 Fa
ARYATE? THPT IS df 981 g1 TPl 3 {6 I & 90T = YR HR P a8 faRTe U YRUI a2 |

IUYe TRIIRI Y UgH 19 IR T U= $T Ik Ia13¢|

UY: PUS! o1 foara-fbdare o3 &1 form 3=iA foa SwR s1a faam?
1. Ufsdaa &

2. IS &b

3.0 &

4. D

Correct Answer :-

. Uf&dT S

26) UfEd W™ Pt STa: F1 7 6 $o THgr § 7Y e b 8 3R 8 wrel & Fur w39 ) Ppea
2 3 B3 Trdt afvreg MR #1, T R A9 1 g @ Sivan 8 3R i wra: et wer gey foran
FYd g IR S8 Bl 3T WM $t Fgd § 8T TH-UH UTedt W1t § 3R IAPT g, A, W dur fomar siman
21 T ATgH BT 8, 3 B 3afire AW veT % S 38 7 freuufa o1 gweER foran e €, 39 @RE -
Af gU-aRa ga1 31 S $9 71, A o S foram &1 g w7 foren 81 € et vRd TP IR U TAw
T A g3 T & He B R a9 A 39 W ve udA 9@ v g foram; A g9 v foram 9 p
I 8 7 UTI 79 BI 99 A Ugd gvel 98T a1 g forew arae <18 ara ot g 98 foen %




UTd:Td 30T, Yg-81Y i1, | oo, faas-awa=1 avman, gor= foan, gt | fien, o8t argd araq T,
Y diem Mo foar SR I R ugR R a1, H a1+, fise e i, fr faae avman ik s
SR I T4T; died? e WieH fHar 3k T 3811 g I9 feramT g3t 3res1 7 rdr Y11 39fore 39 S8 W
A ot & Bust SR SmHE-Td e 3Q T fFHan o9 A 95 S G g3, 99 ¥ WG B
feame ferae Bis faan o et & wus| &1 feare uftsarsa & ot s1a fean

AP 3@ I e S G SRTY FR TT §, TABT T BRI g2 B J1 8 5 399 31g gedl 8, iR IRy
verdf g1 3T 9Td & | SARIG oF & i Wrar &1 71 A, 3R Torrsh & |ra- 2 gopras S feramn
SR HeaT §1 3 =mf: wfe: wnfe: | o A % snerea wraaTe ik waf¥are &t 9t waf g wT §)
grare 1 3 g § fob Wt vy sReR g1 @ # oA ararard fagl | oY 39 fawy & e §, St
Ui, 3mard T¥seasll X et Mybrereht ¥ TS Gedl § P 99 A9 $A R 8 I6d &2
T TESaol T &1 B T 9 HY, WR I7F o a9 mard W U § Ju1 I &, R a8 Fan
ARATE? TUPT A df 981 81 TPl 3 {6 a1 & 90 =T YR HR P 98 faRTe U 4RoT a2 |

ITYe TR Y USHT 19 IR T U= $T I« 9a13¢|
wY: S WIH § T uTel! STl §2

1. Mg-A9

2. gt

3. SHIAT

4. P-focet

Correct Answer :-

27) UfEa AR SRR T A 6 $o wuw A 78 omar i S8 o 8wt & s ey S @ wed
2 39 B3 Trdt ufvieg MR o1, forT R A3 &1 g @ sivar 8 3R i wra: it wer gey foran
Fd ¢ SN S8 il 3T R o1 Fed & Sel TA-NH urel} ATt § iR IAPT g, e, B duR o siran
21 U1 AIH BT ©, 3% B 3afere A veT P S 39t # freuufa o1 aweR forat i €, 39 @RE -
Y gU-ARa §1a1 1 ) $B 8, A ora 38 fore o1 e o forn 31+ A1 v U IR U TS
I 9 g9 T S8 He B At a9 B 39 W U WA a9 (U g1 fora; Afh g o9 foran 3t g
AT 8 7 4TI 9 B 99 A Ugd gvel 937 a1 g fore @ <18 ara ot g 98 fore %
WId:P1d 3T, Ya-eT1d a1, W foban, foade-a<-1 avman, gore fvan, ot | fran, w8 arga aram m;
fipe dew WieH forar SR Qan FR ugR fR a1, H1 BT+, five @ faran, fi faee avman ik s
S =TT TT; died? e Wie fBar ok I TeT1 g Ta a1 g3t 3resT 1 arar YTl 39foe 39 S8 W
A it F Fust R M-I fRrae? IV W fFa1 o9 A 98 S J9TW g3, 99 A Td-3mHe &1
feare fore ois A ok ot & Hus! &1 fema uftsars= & o s1a fean

AP 3@ A fie S8 R SRTY FR T &, THBT T HROT 82 A 71 ¢ fF 399 31y gedl 8, i IRy
uerd §TY 3T 9ITd & | ST 3@ & i WA ST 719 dAaw, 3R TORTSH & |H 2 PP S faran
IR el §1 3 y: J: AR | T A b Soip e AnaTE 3R GufdaTe 98 9 w4t 9 @1 §
gregarg $1 3 gg 8 for Tft agsy R 8|1 Y 7 e wrard fagl @ <Y 59 fawa & e €, S9-ot
Ui, A Reggael 3R Smard Sywrrel ¥ Y@AT @redl § & 99 799 $9 R 8 99 22
AR} Seal gt &1 B AT 7 B, TR I o o9 mard A U § a1 9ad 8, e g8 Fa
TIaTe? 3UST Adad df 98! 8 GodT ¢ % a1 & ari- = YR S I 98 faRTE =T YR HR & |

IUY e T B UgHR 19 YD T U= P Ik qa13¢|

uY: 3T STkt # foran for wmrare & ogaR Tt agw Fmfafaa &2
1. RIS}

2. f&



3. @9
4. 99

Correct Answer :-

28) UfEa Wi &t STadt: 7T A fb o qugr A ALY amar for 3§ o 38 el A g 8 @ wea
2 39 B3 Trdt afvieg Nf F1, forT R A9 1 g @ Sirar 8 3R Wi wra: et wer gey foran
FYd g IR S8 Brf 3T W $t Fgd § 8T TH-UH Urelt St § 3R 3P g, AeEH, W dur fasar siman
21 T ATH BT ©, 39 B 3afire A veT % S 38 7 freaufa o1 gHR forat i €, 39 @RE -
wfa gU-uE 99a1 81 S 9 81, A7 or@ 38 Rraq &1 g 3% R 71 #¥ A1 Usd 0P OR TP D
I 9 g9 T S8 He B A 99 B 39 W U WA a@ (U g1 fora; dAfh g S9d foran 3t 3o
T 8 7 ATI 79 B) 99 A Ugd gvel 937 Traar-F1 g forew @ +18 ara ot g 98 foren %
WId:$1d 3T, Ya-g1d 4T, W foban, foade-a<-1 avman, gor- fsan, st | fran, w3 arga aram m;
bz diew Mo forar SR a1 FR ugR R a1, H1 BT+, fise = faran, fbr faee avman ik s
qia= 9T T4T; died) B HieH B iR A1 X871 I8 99 fore1 g3t 3resT 71 @vaT 4T 39fie 39 S8 W
A it F Fust MR me-Td fRrae? IV W fFa1 oe A 98 S 0w g3, 99 @ Td-3mHe &1
feare fore ois A ok ot & Hus! &1 feume uftsars= & o s1a fean

AP 3@ | fpT 3 feRaAT SR™Y H @1 §, TS FT SR 32 A JAT 8 5 399 3y w8, 3T Iy
mﬁauanﬂlﬁélsﬂﬁrqmﬁﬁﬂmﬁﬁmwam 3R oISl & A W geree S e
R BT §1 S y: Tf: S | o < ¥ Seiod WrHEaTe 3R wafdarg @t 9t wuf g @1
gregare $1 3 g 8 for Tt agsy RreR ¥ | Y 7 e wrard) fagel @ oY 39 fawa & e €, S9-oft
Ui, A Resgael 3R Smard SywTrel & Y@HT @redl § & 96 799 $9 IR g 99 82
AR} ST gt &1 B AT 7 B, TR 396 o a9 mad A U § a1 9ad 8, e g8
ATqTG? SHST Udad dl T8t g1 IHhdT ¢ fb a1 & aT8 ©U YR $HR 1 98 faRTe U 4R a2 9|

IU e TR B UghR 19 IR T YR P Ik 9a13¢|

vy 3 e daar & AA RR goma STt foren I a7 82
1. Rra st

2. DTl St

3. OISt

4. T Sht
Correct Answer :-

. TURT S

29) UfEd W #t STat: FT A 5 o qugr § ALY arar for 3§ iR S8 i A wn i S8 o wed
& 39 DIt AT} Aivres Ui 31, foRT W A1 &1 g foran SiTen @ iR Y v et weT g foran
FYd § MY S8 B I W Y Fd § Tl TH-HE urelt St § SR ISP gy, TRaH, O R fosar srar
21 U1 ATqH gar 8, 3 i 3afie A ust % 99 3 & Frufa &1 gumeR Rrar wmar 8, 39 @wvE -
Afa gU-9E g9a1 31 S $9 81, A7 o S8 forem 1 frgrg o7 foran 81 o€ 91et g d UF IR U RAd
T A g T 39 He ot f 99 A7 39 W TP 7 9@ v 71 fora; afes g sud forem 7 oo
AT 81 9 Y71 379 B W & U el doT Wal-F g e @ #1391 ot g1 a5 foraen %
WId:HTd 361, Ye-g14 a1, W b, faas-aw1 avman, g fsan, gt & e, w3 arga ara- m;
i diedr YieH fhar iR WiaT1 F R ugR fiR a1, W o, iR ar faran, fisr foas avman ok ot
SR T T4T; died? e Wie fHar 3k Y 3811 U I9 feramT g3t 3resT 7 rdr uT1 39fore 39 S8 W



A7 Uit & Pust SR MG-I-Ed ferg®dy I8 QRT faT| o9 | 98 S JHIE g3, a9 F Gd-3ATHG BT
T fore ois faar ok 4t & wusi &1 feume uftsargs & o s1a fean
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gard g 3 ST &1 SR 3 & bR AT 1 T Ay, IR oSl & A i gorny S8 fera
R el §1 3 MI: JAY: WORY: | AT T b oIpet ARaTE SR GwivaTe 35 9 74t G w@T §
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FrQUITA, Smamd Tsgash 3R mard fuerel | TST 9redT § 1 99 9979 $A TR 8 b 82
AR} seael g &UT B qT T B, WR 39 o o9 mard W U & qur 9od g, Y g8
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SR TR B UG -1 YR T U= T Ik qa13¢

TY: 3T ST | I fp-fF! Aregarg &1 smard |/
1. Had Yyui-i

2. Bad FUBHT Sit

3. $Id N5ed

4, Iad at
Correct Answer :-

. S0 a1t B

30) &R & roriifa ufg s

T 91d Fed AYH &, THATER 99 UTg|

T 3f TgR g9 Ul &, 319 % Uy vgru|

9t g3 I St ST, S TeTu|
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Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

When many people work together, they are said to --operate.
1. dis--
2. co--
3. de--

4. in--

Correct Answer :-

* CO--

2) Fill in the blank with the correct option in the given sentence:

I am too scared of poison-- snakes. What about you?

1. --ful
2. --ing
3. --ed
4. --ous

Correct Answer :-

3) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.

A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,

The place where we changed - the dark trains lumbering through;
The refreshment-room, the crumbs and the slopped tea;

And the salt on my face, not of tears, not tears, but of the sea.



“Our train at last! said Father, Now tumble in!
It's the last lap home!' And I wondered what 'lap’' could mean;
But the rest is all lost, for a huge drowsiness crept

Like a yawn upon me; I leant against Mother and slept.

What were the gentlemen talking about?
1. weather

2. fashion

3. Cricket and news

4., music

Correct Answer :-

e (Cricket and news

4) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.

A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,

The place where we changed - the dark trains lumbering through;
The refreshment-room, the crumbs and the slopped tea;

And the salt on my face, not of tears, not tears, but of the sea.

“Our train at last! said Father, ‘Now tumble in!
It's the last lap home!" And I wondered what 'lap' could mean;
But the rest is all lost, for a huge drowsiness crept

Like a yawn upon me; I leant against Mother and slept.

Where did they change trains?
1. atalevel crossing

2. at a village

3. at a station

4. at an unscheduled stop

Correct Answer :-



® ata station

5) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.

A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,

The place where we changed - the dark trains lumbering through;
The refreshment-room, the crumbs and the slopped tea;

And the salt on my face, not of tears, not tears, but of the sea.

"Our train at last! said Father, ‘Now tumble in!
It's the last lap home!' And I wondered what 'lap’' could mean;
But the rest is all lost, for a huge drowsiness crept

Like a yawn upon me; I leant against Mother and slept.

When did the homeward journey begin?
1. midnight

2. noon

3. evening

4. morning

Correct Answer :-

® evening

6) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.

A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,
The place where we changed - the dark trains lumbering through;



The refreshment-room, the crumbs and the slopped tea;
And the salt on my face, not of tears, not tears, but of the sea.

"Our train at last!"said Father, ‘Now tumble in!
It's the last lap home!" And I wondered what 'lap' could mean;
But the rest is all lost, for a huge drowsiness crept

Like a yawn upon me; I leant against Mother and slept.

Which are the words in the poem indicate it was a hot day?
1. sunny heat

2. level sun

3. salt on my face

4. drowsiness crept

Correct Answer :-

® sunny heat

7) Read the following passage and answer the question given below:

An important call to protect the world’s freshwater supplies has come from scientists,
government leaders, and civil society representatives who met recently in Stockholm for World
Water Week. As population and incomes grow, with concomitant consumption, there is a sharp
rise in the demand for water for direct use, and as an input for food production. Many countries
are also experiencing rising demand for water to grow biofuel crops. The global supply of
freshwater, which every individual needs at the rate of 1,000 cubic metres per year to meet
minimum drinking, hygiene, and subsistence requirements, is under strain. Unpredictable
monsoon patterns attributed to climate change are adding to the distress. The message to
governments is that they must respond urgently with practical schemes or face escalating
conflicts over water in the not-so-distant future. The priority must be to reduce water intensity in
farming, the biggest single user. Even a small but significant saving in irrigated agriculture can
deliver more water for people. That is clear from an International Water Management Institute
forecast: without improved farm productivity, including measures such as waterproofing of canal
surfaces, the volume of water lost due to evaporation annually could, by mid-century, be nearly
double the present level of 7,130 cubic kilometres.

With increase in population and better economic levels consumption has:
1. remains the same

2. decreased

3. not effected

4. increased

Correct Answer :-

e increased



8) Read the following passage and answer the question given below:

An important call to protect the world’s freshwater supplies has come from scientists,
government leaders, and civil society representatives who met recently in Stockholm for World
Water Week. As population and incomes grow, with concomitant consumption, there is a sharp
rise in the demand for water for direct use, and as an input for food production. Many countries
are also experiencing rising demand for water to grow biofuel crops. The global supply of
freshwater, which every individual needs at the rate of 1,000 cubic metres per year to meet
minimum drinking, hygiene, and subsistence requirements, is under strain. Unpredictable
monsoon patterns attributed to climate change are adding to the distress. The message to
governments is that they must respond urgently with practical schemes or face escalating
conflicts over water in the not-so-distant future. The priority must be to reduce water intensity in
farming, the biggest single user. Even a small but significant saving in irrigated agriculture can
deliver more water for people. That is clear from an International Water Management Institute
forecast: without improved farm productivity, including measures such as waterproofing of canal
surfaces, the volume of water lost due to evaporation annually could, by mid-century, be nearly
double the present level of 7,130 cubic kilometres.

The supply of fresh water is under stress due to some factors.
Which one of the following is not such a factor?

1. Uncertain weather pattern

2. Every individual needs 1000 cubic metre of water

3. Increase need of water to grow bio fuels

4, Increase in income

Correct Answer :-

» Every individual needs 1000 cubic metre of water

9) Read the following passage and answer the question given below:

An important call to protect the world’s freshwater supplies has come from scientists,
government leaders, and civil society representatives who met recently in Stockholm for World
Water Week. As population and incomes grow, with concomitant consumption, there is a sharp
rise in the demand for water for direct use, and as an input for food production. Many countries
are also experiencing rising demand for water to grow biofuel crops. The global supply of
freshwater, which every individual needs at the rate of 1,000 cubic metres per year to meet
minimum drinking, hygiene, and subsistence requirements, is under strain. Unpredictable
monsoon patterns attributed to climate change are adding to the distress. The message to
governments is that they must respond urgently with practical schemes or face escalating
conflicts over water in the not-so-distant future. The priority must be to reduce water intensity in
farming, the biggest single user. Even a small but significant saving in irrigated agriculture can
deliver more water for people. That is clear from an International Water Management Institute
forecast: without improved farm productivity, including measures such as waterproofing of canal
surfaces, the volume of water lost due to evaporation annually could, by mid-century, be nearly
double the present level of 7,130 cubic kilometres.



The passage talks of an increase in the requirement of water for direct use.
Which of the following is not a part of direct use?

1. Agriculture

2. Drinking

3. Cooking

4. Washing

Correct Answer :-

o Agriculture

10) Read the following passage and answer the question given below:

An important call to protect the world’s freshwater supplies has come from scientists,
government leaders, and civil society representatives who met recently in Stockholm for World
Water Week. As population and incomes grow, with concomitant consumption, there is a sharp
rise in the demand for water for direct use, and as an input for food production. Many countries
are also experiencing rising demand for water to grow biofuel crops. The global supply of
freshwater, which every individual needs at the rate of 1,000 cubic metres per year to meet
minimum drinking, hygiene, and subsistence requirements, is under strain. Unpredictable
monsoon patterns attributed to climate change are adding to the distress. The message to
governments is that they must respond urgently with practical schemes or face escalating
conflicts over water in the not-so-distant future. The priority must be to reduce water intensity in
farming, the biggest single user. Even a small but significant saving in irrigated agriculture can
deliver more water for people. That is clear from an International Water Management Institute
forecast: without improved farm productivity, including measures such as waterproofing of canal
surfaces, the volume of water lost due to evaporation annually could, by mid-century, be nearly
double the present level of 7,130 cubic kilometres.

The suggested response to the situation regarding the stress on the demand for water is:
1. Double the present levels of evaporation of 7130 cubic kilometres

2. Reduce water use in farming

3. Reduce farming

4, Increase canal surfaces

Correct Answer :-

» Reduce water use in farming

11) Choose the appropriate pronouns for the given sentence.



Being a singer ; know how difficult it is to sing in front of a large audience.

1. myself; |
2. herself, she
3. yourself, |

4. himself, you

Correct Answer :-
« myself, |

12) Fill in the blank with the correct option in the given sentence:

Remona accepted the job without
1. hesitation

2. hesitate

3. hesitatively

4. hastily

Correct Answer :-
e hesitation

13) Which of the following options best combines the two given sentences?
This is my cousin. His nhame is Anil.

1. Anil is my cousin brother.

2. This is my cousin Anil.

3. This is my cousin brother Anil.

4. He is my cousin brother Anil.

Correct Answer :-

» This is my cousin Anil.

14) Choose appropriate articles for the given sentence:

BPOs remain __ popular choice for __ younger generation as they offer numerous job opportunities.

1. the, no article required



2. a, the
3. a, no article required

4. no article required, the

Correct Answer :-

e a,the

15) Choose the appropriate option that rewrites the following sentence in passive voice:

Ramu has not yet completed his project.

1. His project was not yet been completed by Ramu.
2. His project have not yet been completed by Ramu.
3. His project is not yet completed by him.

4. Ramu’s project has not yet been completed by him.

Correct Answer :-

« Ramu’s project has not yet been completed by him.

16) Choose the appropriate synonym for the highlighted word in the given sentence.

The news commentator had to yell to be heard above the hubbub.

1. bedlam

2. sports activity

3. stillness

4. argument
Correct Answer :-

e bedlam

17) Choose the appropriate tenses from the options given to fill in the blank in the sentence :

Jane never satisfied. She

1. will, will always complain
2. has been, always complained

3. has, shall always complain



4. is, is always complaining

Correct Answer :-

* is, is always complaining

18) Choose the appropriate antonym for the highlighted word in the given sentence.

He thought that he would be rewarded for his deeds in vain.
1. flattered

2. insulted

3. reprimanded

4. punished

Correct Answer :-

e punished

19) Choose the appropriate prepositions for the given sentence:

The doorbellisthecue _ theactresstorun______ stage.
1. over, for

2. of, into

3. for, on

4, for, along

Correct Answer :-

20) Choose an appropriate modal for the given sentence:

As the final submission is due tomorrow, I _ complete my assignment.
1. could
2. must
3. might

4. may

Correct Answer :-



21) Choose the option that best explains the highlighted expression:

When I turn up my toes, I want people to gather around me with lots of flowers.
1. become famous

2. die

3. play well

4. marry

Correct Answer :-
o die

22) Choose the option that best transforms the sentence into its Indirect form:

Mother said to her son, "Have you done your home work?”

1. Mother asked her son this if he had done his homework.
2. A mother said to her son if he had done his homework.
3. The mother asked her son if he had done his homework.

4. The mother asks her son if he could do his homework.

Correct Answer :-
¢ The mother asked her son if he had done his homework.

23) Choose the option that substitutes the given phrase appropriately.

A movement or action of the hands or face
1. Action

2. Gesture

3. Animation

4, Posture

Correct Answer :-

e Gesture



24) Read the sentence carefully and choose the option that has an error in it:

Driving across the bridge, the sailboat with its sails billowing in the wind was a beautiful sight to
see.

1. Driving across the bridge
2. was a beautiful sight to see.
3. billowing in the wind

4. the sailboat, with its sails

Correct Answer :-
» Driving across the bridge

25) Read the sentence carefully and choose the option that has an error in it:

The demand of the workers’ union that the dismissed employee to be reinstated has been
accepted by the management.

1. to be reinstated has been accepted
2. by the management.
3. The demand of the workers’ union

4. that the dismissed employee

Correct Answer :-
* to be reinstated has been accepted

26) Change the given statement to indirect speech.
Jack: “New York is livelier than London.”

1. Jack remarks that New York is livelier than London.

2. Jack said that New York has been livelier than London.
3. Jack said that New York is livelier than London.

4. Jack said that New York was livelier than London.

Correct Answer :-

o Jack remarks that New York is livelier than London.

27) Fill in the blank with the correct option in the given sentence



You can see what | am doing you observe me carefully.
1. and

2. whereas

3.if

4. until

Correct Answer :-

28) Fill in the blank with the most appropriate preposition in the given sentence.
She loves to run her fingers my hair.

1. by

2. across

3. above

4. through

Correct Answer :-
 through

29) Choose the most appropriate determiner in the given sentence.

The innings were quite dull
1. third, second

2. two, third

3. second, three

4. three, second

Correct Answer :-
e second, three

30) Choose the right tag:
You didn’t have to wait long, ?
1. did you

2. didn't you



3. had you

4. don't you

Correct Answer :-

« did you

Topic:- Social Science (S5C)

1) Who said that, “"The President occupies the same position as the King in the British
Constitution”. / f&w a1 uT f5, “fafewr Wfaur & wrgufa, e & F9H ®IF T50 FRar 31
1. S. Radhakrishnan / UH. X[YTH T

2. Dr. B.R. Ambedkar / ST, d1.3R. g H

3. Dr. Rajendra Prasad / IS E-Ae LI

4. V. V. Giri /4l faR

Correct Answer :-

« Dr. B.R. Ambedkar / 31, d1.3R. g H

2) Who was the ruler of Gujarat when Mahmud attacked Somnath Temple? / STd Hg¥g q
THTY TR R g f5ar 4T, 39 THY TSR &7 TP DI UT?

1. Bhim Dev / H1H &d

2. Mula Raja / HcIT TSIl
3. Siddha Raja / g 7o
4. Kumar Pal / PHR Ylel

Correct Answer :-

« Bhim Dev /Y@ 29

3) Which of the following is the mausoleum of Muhammad Adil Shah of the Adil Shahi dynasty?

; Frafafea o 3 snfea wdt 931 & Yewig Snfed xTe &1 HHarT i A1 82
1. Gol Gumbaz / TTIe T[FSSl

2. Juma Masjid / STHT TG

3. Taj Mahal / ATSTHEd

4. Qutub Minar / $dd TR

Correct Answer :-



« Gol Gumbaz / TTid Tl

4) in the Constitution set forth the humanitarian social precepts that aim at social
revolution. / Jfau= & A AEgarard) arfere Ut & feifva fear Raer sexa
IS wifd g1

1. Right to Equality / JHdT BT TUBR

2. Right to Equal Protection / FHI- TR&UT BT SHTHR

3. Right to Education / fRI&T &7 3fAHR

4. Directive Principles of State Policy / IS & =ifd 3 aa
Correct Answer :-

» Directive Principles of State Policy / I & Hifa e da

5) The test that predicts the performance of individual in a particular field is: / QHT tl'\ﬁ&‘I'UT |

et faxiw &= ¥ safaa & ezl &1 gafgum e &:
1. Diagnostic test / TGT=a URI&0T

2. Prognostic test /TJI‘THH'H gjaror

3. Achievement test / Ul TRI&0T

4. Teacher made test/ T1&® gRI fopar T wRiequr

Correct Answer :-

 Prognostic test mgfgqm gjar

6) Which among the following correctly represents the Honduran Emerald? / ﬁl";'lﬁl@?l’ H

| B T gIgRT THRIES P el g A eifar 82
1. A beach in Honduras / Eﬁw 4 u® HHg dc
2. An endangered bird of Honduras / @w DI U YUY geft

3. An ore found in Honduras /@Wﬁw ST aTdl U 3%
4. An island in the Atlantic Ocean / 3{cdilc® HENRITR H U g

Correct Answer :-

« An endangered bird of Honduras / aw pT Udh JLdUTg geft

7) Pohang Iron and Steel Company is from which among the following countries? /

Prafifad & ¥ WeiT omR+ te Wa sl fra a2



1. South Korea / GI&0T IR
2. North Korea / 31X HIfeT
3. China / EIC]

4, Japan / SITUTT

Correct Answer :-

« South Korea / <feror sifean

8) Hubbert peak theory is related to which of the following? / g¢ AR Rygia

Frafafea # & foaa w@efta g2
1. Currency Trade / HxI UIUIR

2. Petroleum / ﬁ‘cjﬁuﬂ

3. Metabolism / ddMUdY

4. Nuclear Energy / URHIU] St

Correct Answer :-

« Petroleum / ﬁ'cjﬁmtr

9) Who is the administrative head of Prime Minister’s Office? / UYTHA] drafag &

U UHE B 82

1. Prime Minister / T

2. Principal Secretary / UHTH gfd

3. Cabinet / AHSd

4. Cabinet Secretary / HRHed gied

Correct Answer :-

« Principal Secretary / U gfd

10) A type of evaluation which is used to improve and monitor the progress of students and
teachers is: / TP UHR &1 eI g, 9l D 3R gl 3t wifa 3 Gur iR ARt
& fore frar smaT 21

1. Formative evaluation / IJATHD Jicf—lidﬂ

2. Norm-referenced evaluation / AT Tefd H™ih

3. Summative evaluation / ATTE® Hedid



4. Criterion-referenced evaluation / A8 T&Hd Hlih

Correct Answer :-

« Formative evaluation / IITH® Helh]

11) Mind is a ‘Tabula Rasa’. Who said this? / H T® ‘dqdT I’ (Tabula Rasa’)% g oo
Pel?

1. Immanuel Kant / HTJU] &ic

2. Michel Foucault / fRId W

3. Friedrich Nietzsche / Th& R I
4. John Locke / 5119 dld

Correct Answer :-

o John Locke /\—,|"|’:[ GVW

12) Before Ashoka became Mauryan king, which province did he serve as governor? /

NP UIRE eI g9 A Ugd 5 vid W Isaure & &9 & S v A2
1. Taxila / A&IRTaT

2. Vaisal / 59

3. Pataliputra / GTCEIgA

4. Ujjain / IS0

Correct Answer :-

. Taxila / d&ffRra

13) The First Factory Act restricting the working hours of women and children was adopted

during whose time? /W@ﬁﬁﬁ%ﬂ%ﬂﬁﬁmmﬁwm
SrREM AU frad Jwa § $ra=mar 1T 12

1. Lord Ripon / dre o=
2. Lord Lytton / qrs fere
3. Lord Bentinck / @S Sfed

4. Lord Cornwallis / @l DI e

Correct Answer :-

« Lord Ripon / are o=



14) The term Isostasy describes: / H-Tqa- g 18 B ARSI BT ]
1. The state of disruption / fageq & fufa

2. The state of balance / Tl o1 fRufar

3. The state of uplift / SITIH B! fRUfd

4. The state of subduction / FTHETT @ fRYfd

Correct Answer :-

« The state of balance / T o1 Rufar

15) The song ‘Amar Sonar Bangla’ written during the Swadeshi Movement of India inspired
the liberation struggle of Bangladesh and was adopted as the National Anthem of

Bangladesh. Who wrote this song? / YR & TR sfigia- aﬁﬁ?‘lﬂﬁ@wﬁa '3HY
AR e 3 AR 3 ST & wH P R R A S AR 3 gt T &
U T U= T | g ia fean ferar g2

1. Michael Madusudan Dutt / HIgh d HYFc ad

2. Mukund Das / §&$& &9
3. Bankim Chandra / §fdH I%
4, Rabindra Nath Tagore / gy &R

Correct Answer :-

 Rabindra Nath Tagore / gy &R

16) The coral reefs are the marine counterparts of which of the following? / UdT¢l Ad

Sfor, Frafafea 9 feast g ufauer 82
1. Savannahs / SUIBTeSHTT UMY e (FaT)

2. Scrubland / UYH (Fhace)

3. Temperate forests / THRITAMT a1

4. Tropical rainforests / SUHICSENT Iuf-g

Correct Answer :-

« Tropical rainforests / Sursfeddty guf-aa

17) The Head Office of Export Promotion Council for Handicrafts (EPCH) is located at? /

FwarRrey frata dadq uivug (diiiea) @1 qenay ggi fRua 82



1. Delhi / feeeit

2. Jaipur / SIYYR

3. Varanasi / IRTOET
4. Kolkata /WWT

Correct Answer :-

. Delhi / f&cit

18) Which one of the following aroused a wave of popular indignation that led to the

massacre by the British at Jallianwala Bagh? / Fafafea 99 foa Udh = A STHI
P TeR UgI B 3t oI FRUI SES gRT SIfRrdiarar 9T # REER g2

1. Government of India Act 1919 / HRd IR HAFTH 1919

2. The Rowlatt Act / G I T (Tl HTI)

3. The Arms Act / 3gY fUFTH

4. The Vernacular Press Act / TGRSR U Tae

Correct Answer :-

« The Rowlatt Act / G dic TIE (HTall HI)

19) Which one of the following is not a method used for the assessment of personality? /

Al & P AT & g TN $t 7= areit fafd Fafafea o & #19 d@ 78 @2
1. Project method / 9IS fafdr

2. Projective method / W& fafey

3. Objective method / I¥IHS fafey

4. Subjective method / 3T fafer

Correct Answer :-

+ Project method / Tror fafd

20) Which is not a third Century BCE stupa? / TTa™] RTdTed! ST Yd HT WU DI AT T8l
2

1. Dhamek Stupa / UTHES U
2. Kesaria Stupa / Harar XU
3. Amaravati Stupa / 3{ERTAA! U



4. Sanchi Stupa / il XU

Correct Answer :-

+ Dhamek Stupa / ey U

21) Which is not a structure in the premises of Qutub Minar? / $dd R & uReR 4 oA
Y A= RN 82

1. Quwaat ul Islam mosque / Podd 3l FTIH Ilﬁ-ﬁ_c{

2. Alai Darwaza/ﬁ‘lFl'l_i»n REIN]

3. Aibak’s Magbara / U§ &l HhHaR]

4. Tron Pillar / Fh% BT GHT

Correct Answer :-

« Aibak’s Magbara / S T HHER]

22) Which is the first Biosphere reserve in India? / HRd s | Uegdl TAE IR Red (ﬂTfEI—d
SgHEd) B AT 8?2

1. Sunderbans Biosphere reserve / W Wﬂ? ﬁﬁ_q;

2. Nilgiri Biosphere Reserve / A sfRpER frod

3. Nanda Devi Biosphere Reserve / -Gl <ol IARAIR frord

4, Gulf of Mannar Biosphere Reserve /| HAIRX i @'|3°[ SRR Rerd

Correct Answer :-

« Nilgiri Biosphere Reserve / AR sferaR fog

23) Which Gupta king contested the Huna according to Bhitari Pillar Inscription? / et

wH RraraE & AR 59 7w e A g1 & fag I fosar are
1. Samudragupta / H [t

2. Chandragupta I / I 11

3. Chandragupta I/ I&I

4. Skandagupta / Th &It

Correct Answer :-

« Skandagupta / Th I



24) Which among the following was the last European country to rule Goa? /

fFrafefaa & @ Mar R IRE H3A arar sifaw gRIdR 3=1 H1 91 912
1. Netherlands / TleRclg

2. England / 718

3. Portugal / Gl

4. France / g

Correct Answer :-

+ Portugal / ﬂ?ﬁTIT‘T

25) Which among the following is known as “Coffee Port” of the world? / fafafeada

53 fay & «HTwt N & =9 o AT 1T 82
1. Santiago / Sfe3m

2. Santos / ¥

3. Rio de Janeiro / 1 1 SR1

4. Buenos Aires / 9 3T

Correct Answer :-

« Santos /a@m

26) Which metal was unknown to Harappans? /P 3t YTd I TS W SIATd 2
1. Bronze / 1
2. Silver / Xold

3. Copper / ATl

4. Iron/ ?ﬁ_é

Correct Answer :-

. Iron/?ﬁ—s'

27) Which Constitutional Amendment Act removed Right to Property from the list of

Fundamental Rights? / g Taunfae wwies srififeraw 3 Jufy & St & \ifers
PRI P A A get faam

1. 42M /479

2. 418t / 41d



3. 46t / 46d
4. 44 / 449

Correct Answer :-

. 44th /449

28) To promote equity in agriculture the government had introduced system where the
maximum size of land which could be owned by an individual is fixed. / Tﬁf ﬁﬁm&rrﬂ &I EIETHT%% *®
RTweRA worTel 3= @t 2, forad ve safad gr1 w@riigd YfY &1 siftrean s Faa 21

1. Land ceiling / Yf¥1 Tifei (cfs Tifer)
2. Land reform / H{# YR

3. Land Parcel / Y gid

4. Land fixation / Yf¥ FeRor

Correct Answer :-

o Land ceiling / 31[&[ TifeiT (a@' Tifei)

29) Second five year plan was popularly known as . / feia veadfa gieen #t aieia v
| & AT | ST STt AT

1. Gandhian Model / Tiefiare! Aisd
2. Nehruvian Model / ﬁEFaIEfI Alsd
3. Mahalanobis Model / IIETE‘Fﬁm Arsd

4, Harrod-Domar Model / %Q-IS-S}ITRHV'IEFT

Correct Answer :-

« Mahalanobis Model / HeTaIfIg Hisd

30) Match the educationists with their contribution. / ﬁT&I’IﬁTﬁ BT3P 'CﬁTIE'FT A e &3



Educationists Contribution

a. Lev Vygotsky / &g i. Project Method / Wioiee
arsacah! fafer yofaaar fafe

b. BF. Skimmer/ T ii. Constructivist Leamning /
U, AT CAAGTGT T

c. Kilpatrick / frerdfes iii. Jurisprudential Inquiry /

faferemes gaeir ar=

d. Donald Oliver & James P. Shaver | jv. Programmed Leaming /

ey

1. a— (iv); b — (iii); ¢ — (ii); d — (1)
2. a—(i); b— (ii); ¢ — (iii); d — (iv)
3. a— (iii); b — (ii); ¢ — (iv); d — (i)
4. a—(ii); b— (iv); ¢ — (i); d — (iii)
Correct Answer :-

e a—(ii); b (iv); ¢ — (i); d — (i)

31) Which is the process of assessing the progress of learners by identifying areas of difficulties
through diagnoses and remedial actions as part of the instructional process? / Ard=mes ufpar &
TR & Eu ¥ fgM 3R STIRTHS STl & T1eH | HiSA1gal & &1 Bt Ugar Hd gty ot
AT T STHT HRA DY Ufehar 71 82

1. Summative Evaluation / GRTIeTd Hedidh+1
2. Final Examination / 3{fc/e TRI&T

3. Integrated Evaluation / Tbldd Jedidh
4. Formative Evaluation / FHfoete Jeaie

Correct Answer :-

« Formative Evaluation / RIS Jedie

32) Which is the forest conservation movement in India where local people prevented the cutting

down of trees? /MR H DI HT 91 TR&UT TG IAH & ST T AT US| &l BIed A Abd 8?2
1. Bhoodan movement / H& 3iaia
2. Cooperative movement / Wﬁ?ﬂ g

3. Consolidation of land / 4% T ThIeh T
4. Chipko movement / RIge! 3figie



Correct Answer :-

« Chipko movement / FIU®! 3figia

33) Which of the following is the correct psychological way of proceeding in Social Science teaching?

| FPrafefaa & 3 o arfoe g Rigor § omt g1 &1 3R waami—e adier 82
1. Difficult to Simple / Hfe" I T

2. Concrete to Abstract / Td ¥ 3

3. Unknown to Known / 3f3ITd ¥ 3T

4. General to Particular / 9mT=T ¥ fafry

Correct Answer :-

« Concrete to Abstract / Hﬁ@ GHI'Y

34) Which among the following is an example for non-institutional credits? / Fafaf@a A ¥ S a1
TR-HRINTG 91 & oY TP IS8R0 32

1. Regional rural banks / &= areior S
2. Nationalised banks / QTW d%

3. Moneylenders / HIgPR

4. Cooperative banks / GgHRI 4%

Correct Answer :-

» Moneylenders / 9IghR

35) Which among the following is a non-conventional source of energy? / fFrafafaa & @ &9 91wt
F1 TP TR-INRAT AT §2

1. Natural gas / Q’@ﬁﬁﬁﬁ
2. Petroleum / aaﬁﬂﬂ
3. Coal and lignite / ST 3R ferarge

4. Wind energy / Ud- vl

Correct Answer :-

« Wind energy / Ud Bl

36) Projective techniques are used for the assessment of one’s J Tt w%

F Yeaie & frg Mofaea ao-e) o1 STanT fbar srar 2|



1. Development / famrg
2. Personality / Sfad@

3. Growth / Q'@
4. Intelligence / §@

Correct Answer :-

 Personality / Hfaaa

37) is a policy which aimed at replacing or substituting imports with domestic production.

/e iR R siwa e 3 WY SdTe A HRruiid S a1 sea 21
1. Balance of trade / IR Ao

2. Balance of payment / YTTdT dda

3. Export reduction / fafd =gteur

4. Import substitution / ST WcRUTI

Correct Answer :-

« Import substitution / 3T YfaRATG

38) observed that ‘Social Sciences is perhaps the singular curricular area which can prove
to be the most effective tool for providing education in the context of all the core components
envisaged by National Policy on Education.’ / A ura {6 arfore ﬁ?ﬂﬂ RMAQ Uhd UTed ax
2 ot Rram R iy Aifd gr1 aReTera @aft ger gest & Waol A R ver S 1 e qUTd SuHl
Hifed gl wpar g 1"

1. National Curriculum For Elementary And Secondary Education (1988) / UTufiidh 3R Areafiyen fRren & forg
YT UTSTHH (1988)

2. National Curriculum Framework (2005) / TI'@T[ BIEDERIEARITERE)) (2005)
3. Secondary Education Commission (1952-1953) / A1eaf®es fRiaf SRT (1952-1953)

4. A Framework of NCERT (1975) / TTIIZ3Rd} &1 T Ul (1975)

Correct Answer :-

« National Curriculum For Elementary And Secondary Education (1988) / UTuffids 3R reafies Rren & fag
P UTSTHH (1988)

39) Who said that, “The United Nations was not created to take humanity to heaven, but to save it

from hell.”? / fam Fg1 s, "Hgert Y ATAT B W A & A P forg 781 o=mar ar o7, 9fedp 39 R
q §9 & fore s=rar T At e

1. Dag Hammarskjold / ST g
2. Antonio Guterres / G CIGLIRIGES:



3. Boutros Boutros-Ghali / W W—‘Jﬁﬁ

4. Ban Ki—Moon/ M- T

Correct Answer :-

o Dag Hammarskjold / ST g

40) Who was the first Indian to be the Governor General of India? / W%m (1137"?
T Rd) §99 913 Ugd HRAIg S &2

1. C. Rajagopalachari / 91, ISANUTARIRY
2. Fakhruddin Ali Ahmed / PRI 3l 36

3. Lal Bahadur Shastri / ¢T¢] dgTgR T
4. V.V. Giri / a1.dt. ik

Correct Answer :-

« C. Rajagopalachari/?ﬂ. NSHIFIRIEIR

41) Who upheld the view that religion can never be separated from politics? / framt g e @i &Y
TRHIR Y@ b o ot e I St srert 78 fowan &1 gepan?

1. Dayanand Saraswati / GO TR
2. Raja Ram Mohan Roy / RIS IH HigH I
3. Gopal Krishna Gokhlae / TUTel W1 TGl

4, Mahatma Gandhi / HgIHT e

Correct Answer :-
« Mahatma Gandhi / AgTHT Tieht

42) The process of transferring the income from asset owning people to non-asset owning people is

./ uf¥Eufy & Aifere @i Y IRURElRy & Wit ard @i & S R $31 31 ufshal-
gl

1. Vicious cycle effect / g&dIdh UHTd
2. Trickle-down effect / €U Rig (fChd-S3 UHmM@)
3. Balanced growth strategy / Fl_gﬁ'l_d ?{@ RUEIIR]

4. Lorenz curve / @RSl dsh

Correct Answer :-

o Trickle-down effect / TUHh R (fThd-S13 Uma)



43) The Members of Parliament are free to raise any matter that they think is important during

./ & SR e P U fHt +ft 3T arvet B o F fow wWaa g @
oY 38 e 3 {5 wewayuf 31

1. Question Hour / UHhTc]

2. Adjournment Motion / I YIdld
3. Half -an-hour discussion / 3T & g &1 I

4. Zero Hour / [APTA
Correct Answer :-

+ Zero Hour / R[DI]

44) Which among the following rivers is most described in the Rig Veda? /Frafafeadd

o1 1 7 B1ag A TR iftre affa @2
1. Ganga / T

2. Sindhu / &Y

3. Saraswati / IEdcl

4. Chenab / foFTTd

Correct Answer :-

. Sindhu /&Y

45) Who among the following is the author of “Ain-i-Akbari”? /fFafafead “3Tg1-u-

S BT AED DI 52
1. Ishwar Das /%%RW

2. Abul Fazl / ST thoid]

3. Mulla Daud / 1T Gl$hq
4. Akbar / 3{hdR

Correct Answer :-

« Abul Fazl / g Wholcl

46) is a system where by the farmers pool their milk produced according to different grading
and it is processed and marketed to urban centres through cooperatives. / wﬁ?ﬁmaw%aﬁ
fPaT arerT-3renT Aoft & AFHR T I gY BT HISU HYa § 3R 38 o) afhfadl & Areaw &

T vd Wt F B fawpa far wmar 21



1. Operation Mantra / 3{Tae<= 7
2. Operation Torrent / 3{TOXYH RT
3. Operation Serve / STORTA Id

4. Operation Flood / 3iTIRYH GTS

Correct Answer :-

e Operation Flood / I FTS

47) Which of the following banks installed the first ATM in India? / fafafad 4 fFadea yrRa o
ygdr udied wi1fud fean

1. ICICI / TS emsdans

2. HDFC / TISIumt
3. Yes Bank/aﬂ%

4, HSBC / TUTs T

Correct Answer :-

« HSBC /TIueERt

48) The Road Back to Nature is a book discussing the global ecology and destructive farm practices. Who

is the author of this book? / ﬁ??ﬁg#ﬂﬁ%mﬁﬁeﬁ?m?ﬁwﬁﬁw
T4 P I TP P ¢ | 59 [P P @D B 82

1. Bill Mollison / fo@ Hifera
2. Albert Howard / GIWT:C B'Iaé
3. Eliot Colman / Qﬁfq?f CANEE

4. Masanobu Fukuoka / AHTIg HPH3HIb]

Correct Answer :-

« Masanobu Fukuoka / J-I{-II"I\IQJ, l;Pgb\?"I\IGbI

49) The learning strategy which is associated with 5 E's (Engage, Explore, Explain,

Elaborate and Evaluate) model is: / 3R U it 5 § & 1Y S} g5 & (JaH, =AWy,
e, fIeR 3R gegie) Aled @

1. Constructivism / GGG

2. Social inquiry model / GTHTIS SIS Hied
3. Branching programming / G- URITHA

4. Team teaching / €1 TRI&0T



Correct Answer :-

« Constructivism / GTAAIG

50) The process of collecting, analyzing, recording and interpreting information about

student learning is known as: /ma%? aﬂ@m%ﬁwﬁmmmﬁ, fazafa
B, Np18 B SR fagas w1 &1 ufsban &1 f= et s &:

1. Role play / A
2. Assessment / T -
3. Testing / rifaly|

4. Dramatization / ATCH T JUTAR

Correct Answer :-

» Assessment / HTh T

51) To choose appropriate teaching strategy, the teacher considers which of

the following factors? / Sugad fRrerur IvMifa g7+ & fore, Rers Fafafea d A
59 *R® R faR Frar 8?2

1. Sports/cultural days in the school / ¥h ¢l | @ﬁm feay
2. Visits by inspecting authorities / fRYeror SifreRTRal gRT YHT
3. Abilities of the learners / I} &1 Trgdr

4. Year Plan given by the school / faererg grr <t ‘Tg CLERISEN

Correct Answer :-

« Abilities of the learners / &r&rrfih‘r CARRR I

52) The term “brainstorming” was first coined by: / e "IAIR-HYT" Jad tl'e!?f
$% §RT WRgd fobar T o ;

1. Osborn / &

2. Johnson / SEA

3. Caldwell Cook / dlesdd b
4. Bruner / §-1X

Correct Answer :-

« Osborn / 3aTH



53) Idealism strongly promotes: / 3(GXIATG g&dl 1 ®I FGaT ¢l B:

1. Source of knowledge is nature / U fd 3 BT HId gl
2. Senses are the gateways of knowledge/ GG I & gR gl

3. Axiological belief in absolute values / TqUl Tl & STRUTATE! faym
4, There are many truths as there are many paths / ﬁ qd %‘ Fifds ?:b_§ I %"I

Correct Answer :-

. Axiological belief in absolute values / TqUT Hedi & STRUTETG! fAY™

54) To attend the individual differences in the class, what should the teacher of Social

Science do? /$&nﬁwmsmﬁaﬁm§ﬁ%ﬁﬂ,wﬁmﬁﬂﬁmﬁrw -

1. Uses variety of learning experiences s faftra st &lﬂﬂ-ﬁh BT ITIRT Bl %l

2. Gives different types of assignments / faf¥a THR & 3rgTHe (Fd=n aarg|

3. Conducts tests end of the week / TG & 3icl T URTEIUT ST PRl 5 |

4. Makes sure all the students are present everyday / T8 GF1d Hdl & T Tt B/ &% A SufRa
Gl

Correct Answer :-

« Uses variety of learning experiences / fafre sifermy 313‘1-@ BT STIRT Bl %|

55) The teacher shows photo copies of the letters written by Mahatma Gandhi while
teaching a lesson on the struggle for Independence to: / Rrere wadzan Iy 1R UTe trar?r
U Wt M gRT fora T wHl 1 wiet wifval safee famar

1. Supplement the concepts with facts / T & 1Y YRS Dl Gﬁ@ﬁ & forg

2. Adopt deductive approach / BHUEIECY PP 3T & fa|

3. Use problem solving procedures / THIT JHTYUTH Ufharai &1 TN 6 & fem
4. Execute a project / BIRISE| (Eh@a%) &I feTfed #R & forg

Correct Answer :-

 Supplement the concepts with facts / q} o TTY TUROMSH BT S 1% fam

56) Who set up the Indian Independence League? / YR Tga=rdT o fpaq wiTfud @i?
1. Dadabhai Naoroji / LT ) ARISH
2. Rashbehari Bose /wﬁaﬁaﬁr



3. B.R.Ambedkar / §i. 3R 3ASHI
4. Mahatma Gandhi / AgTET ieh

Correct Answer :-

« Rashbehari Bose / Wﬁ%ﬁ IR

57) CANCELLED

Which of the following is metamorphic rock? / fFrafefed o 9 sraiaid G| P %?
1. Marble / GTTHRHR

2. Sandstone / I3 YR

3. Mica / 3{Hd

4. Schist / R

Correct Answer :-

. Schist/ R

58) CANCELLED

Ajanta Paintings represent the scenes from: / 3ot & foar 1 & e=ai 3t E'Q'Iﬁ %
1. Jatakas / SIebIdl

2. Mahabharata / HeTHIRd

3. Ramayana / XTHIYU]

4. Upanisads / 3UfG

Correct Answer :-

« Jatakas / SIhIdI

59) EBP stands for: / gTsﬂTﬂ G| ﬁ??ﬁ g %:
1. Evidence Based Practice / Qﬁ@?\q ste Ofgey

2. Evidence Based Problem / Tfde=T a8 UleH
3. Education Based Practice / Q§a552 7 9%e Ufdeq
4. Education Based Problem / anail:l IS UletH

Correct Answer :-

» Evidence Based Practice / Eﬁ@‘ﬁf{ o%e dfdeq



60) Density of population is computed by which of the following method. / STIST ¥ U9

@1 o e | 9 5 faftr gy 3t et 21

1. Female population divided by area / & d gRT faHTford Afea SHxive
2. Male population divided by area / A gIRT fauford T3 ST

3. Area divided by total population / & ST gRT faHTiora eshd

4, Total Population divided by area / FHd gRI fauTford S ST

Correct Answer :-

« Total Population divided by area / A gIRT fauford B ST



